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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

|. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice

any discrepancy.
2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.

7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Which one of the following is not a
greenhouse gas?

(A) CO,
(B) CH,
© 0,

(D) CFCs

2. Which one of the following was published
by Raja Rammohan Roy?

(A) Sambad Kaumudi
(B) Hindu Patriot
(C) Sandhya

(D) The Enquirer

3. The brain of human body is responsible for
(A) Thinking
(B) Regulating the heart beat
(C) Balancing the body
(D) All of the above

| 4. Who is the present Chief Justice in the
| Supreme Court of India?

(A) Ranjan Gogoi
(B) N.V.Ramana
(C) Dhananjaya Yeshwant Chandrachud
(D) None of them

5. Which Mughal Emperor took the title of
*Alamgir’?
(A) Akbar
(B) Jahangir
(C) Aurangzeb
(D) Shah Jahan

1. 57 syPTefE g @R RS sy 2
(A) CO, Y
(B) CH, 30
(© O,

(D) CFCs

2. fsfeids sfamefm wog g e o

T erifre - =
(A) A% R f“
®) Ropous @
(C) 7=t '
(D) W AP

3. T 49w IR e o=
(A) foem
(B) T e 3=
(C) Cites ST fWarget wat -
(D) SARIE FIutE e

4.%%@@5@3@1:{5@%&@9{%
(F? .

(A) F& 5itst

(B) <. TS, qiam

(C) T AT Swpy
(D) 0 T R 7

5. GOl YEE Al EE Sy ol
TR ?

(A) SIFFE
(B) wraiEm
(C) SNeTHER
(D) *iz &=




.. 6. The time at which a sum of Rs, 1,600
becomes 1,852.20 atan annual rate of interest 20%
compounded quantity is

(A) 3 months
(B) 6 months
(C) 9 months
D) 12 months
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7. Five years ago, the father’s age was 8 tifnes
that of his son’s age. Five years hence, the sum of
their ages will be 65 years. Father’s present age is

(A) 50 years P

(B) 40 years ;

(C) 45 years

(D) None of the above
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8. The denominator of a fraction exceeds its
numerator by 4. If both the numerator and

denominator are increased by 3, the new fraction

4
becomes 3 The qriginal fractionis .

(A) B
- 17

® 17 S
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D) 17
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9. The circumferences of the front and rear
wheel of arail engine are respectively 140 cm and
350 cm. The least distance to be covered by the

engine so that both the wheels complete their fulll

rotation simultaneously is
(A) 1400 cm
(®B) 700.cm £
(C) 1050 cm ) o
(D) 980 cm b
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; (B) 69

! (B) 40 <=4
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10. In ancient India Gandhara art flourished
during the reign of
(A) Ashoka
(B) Kanishka
(C) Harsha Vardhana
(D) Dharmapala

11. The age of a man is twice the sum of the
ages of his two children. After 20 years, his age
will be equal to the sum of the ages of his two
children. The age of the man is

(A) 35 years
(B) 45 years
(C) 40 years
(D) 50 years

12. Methanoic acid is present in the
(A) Sour milk
(B) Tamarind
(C) Orange
(D) Antsting

13. Which among the following statements is
incorrect about Gandhiji?
(A) He supported separate electorates.
(B) He led Dandi March.
(C) HestartedNon-Cooperationmovement.
(D) Heattended Round Table Conference.,

14. The average weight of some number of
students is 55 kg. Among them the average weight
of 20 students is 60 kg and that of the rest of the
students is 51 kg. Total number of students is

(A) 54

(B) 52
(€) 48

(D) 45

A-4
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.- 15. The ratio of two liquids A and B in a
mlxture is 2 : 3 and thatin another mixtureis 5 : 4.
To get the equal quantity of the liquids A and B, the
required ratio of the two mixtures is

(A) 3:7
(B) 4:9
(©) 6:11
(D) 5:9

!
g 16. Thenumberofbiggest squared—shaped stone

required to cover a rectangular area of sides 45 m
and 33 mis

(A) 175
(B) 165
(C).155
(D) 145

17. A fruit vendor buys certain number of
bananas. If the selling price of 5 bananas is equal
to the cost price of 6 bananas, then his profitor loss
percentage is

(A) 20%
(B) 25%
(©) 15%
(D) 30%

18. A bag contains of rupee 1, 50 paise and
25 paise and the ratio of the values of the coins is
- 5 : 6. Then ratio of the numbers of the coins is

(A) 3:5:7
(B) 2:5:12
(C) 2:5:9
(D) 2:3:10

19. Who took the title of ‘Vikramaditya’?
(A) Chandragupta I
(B) Chandragupta II
(C) Chandragupta Maurya
(D) Samudragupta

A-p
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(A) 3:5:7
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20. The sum of two numbers is 150 and their
H.CF. is 15. The numbers are

(A) 60,90
B) 30,120
(C) 75,75
(D) 45, 105

21. Who wrote ‘The End of History*?
(A) Michel Foucault
(B) Francis Fukuyama
(C) Sigmund Freud
(D) E.H. Carr

1
22, Amancoversadistance of 24 kmin 3 5 hrs

partly on foot at a speed of 4.5 km/hr and partly on
bicycle at a speed of 10 km/hr. Then the man

covers the distance on foot is
(A) 10km
(BY 9km
(C) 11km
(D) 12km

23. Inaflood relief camp there was a provision
of food for 1000 people for 100 days, after 25 days,
250 people went away elsewhere. Number of days
the remaining food lasts for remaining people is

(A) 100 days
(B) 90 days

(C) 200 days
(D) 160 days

24. Aparnahasenoughmoneyto buy 36 oranges
atarate of Rs. 4,50 per orange. Number of oranges
she buys when the rate per orange is increased by
90 paise is

(A) 30

(B) 27
(C) 33
(D) 36

A-6
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(B) 30,120

(C) 75,75
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25. A policeman starts to chase a thief. When
the thief goes 5 steps, the policeman moves 6 steps.
Again, 3 steps of the policeman is equal to 6 steps
of the thief. The ratio of the speeds of the policeman
and the thief is

(A) 12
(B) 11:
©) 12:
(D) 12

1
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26. In which year National Human Rights
Commission of India was established?

(A) 1990
(B) 1993
(C) 1947
(D) 2000

27. Who among the following won Ramon
Magsaysay Award?
(A) Ashapurna Devi
(B) Anita Agnihotri
(C) Mahasweta Devi
(D) Bani Basu

28. Sardar Sarovar Dam is built in the river
(A) Mahanadi
(B) Narmada
(C) Chambal
(D) Chenab

29. Ratio of three positive numbersis2:3: 5,
sum of whose square is 950. Then the numbers are
(A) 2,3,5 '
(B) 8,12,20
(©) 10,15,25

(D) 12, 18,30

EMRI22..

25, G5 ofert T (IS SIBIS &F T 1T
SN R 5 il T AT G TN 6 e e
T | AT 3 Qi (GITRR 6 LIToH 101w | R
e @ (BIER SHfST SpAte

(A) 12:11
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(©) 10, 15,25
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30. Who among the following published-‘The
Kesari’?

(A) Mahatima Gandhi
(B) Bhagat Singh

(C) Balgangadhar Tilak
(D) B.R. Ambedkar

31. A number of two digits exceeds four times
the surr of its digits by 6. It is increased by 9 on
reversing the digits. The numberis - . -

(A) 45
(B) 43
(C) 34
D) 54

32. A3-digitnumberis subtracted by anumber
obtained by reversing the digits of the original
number. Then the difference is divisible by

(A) 91
(B) 98
' (C) 99
(D) 101

33. Salim Ali is a famous
(A) Entomologist
(B) Ornithologist
(C) Virologist
(D) Archaeologist

A-8
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44. The ratio of monthly income of two persons
is9: 7 and the ratio of monthly expenditureis4 : 3.

If-each of them manages to save Rs. 2,000 per -

month, then their monthly incomes are
(A) Rs. 18,000, Rs. 14,000
(B) Rs. 13,500, Rs. 10,500
(C) Rs. 22,500, Rs. 17,500
(D) Rs. 27,000, Rs. 21,000

45. Who is the author of the Book ‘Wings of
Fire’? Wings of Fire is the autobiography of
(A) Salman Rushdie
(B) Arundhati Roy
(C) A.P.J. Abdul Kalam
(D) Shashi Tharoor

46. In which one of the following states is
Rawatbhata Nuclear Energy Plant located?

(A} Gujarat
(B) Kerala
(C) Punjab
(D) Rajasthan

47. Ifx+%x 5 23 1—%=5-?5- ,thenx=
Z+—ofl
6 5 4
(A) 5
(B) 2
O 1
D) 3

48. The chemically inactive gas present in the
atmosphere is

(A) Oxygen

(B) Water vapour
(C) Nitrogen

(D) Argon

A-1l
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(A) 18,000 5, 14,000 Bi
(B) 13,5005, 10,500 Bt
(C) 22,500 B, 17,500 o=l
(D) 27,000 BT, 21,000 BiA
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" 49. A gardener has 1400 plants to arrange in
same number of rows and columns in a square
field. The minimum numberof more plantsrequired
to make such arrangement is

(A) 45
(B) 41
(C) 49
(D) 44

50, The least number that must be added to
6412 to get a perfect square is
(A) 141
(B) 129
(C) 139
(D) 149

51. Baba Amte is associated with which
movement in Indig?

(A) Save Ganga movement
(B) Save Narmada movement
(©® Chipko movement

(D) Tebhaga movement

52. A chemist has a solution which has 50%
acid and another solution which has 25% acid. The
amount of two solutions required to make 10 litres
of 40% acid solution are

(A) 6 litres, 4 litres
(B) 4 litres, 6 litres
(C) 7 litres, 3 litres
(D) 3 litres, 7 litres

53. Jim Corbett National Park is situated in
(A) Uttar Pradesh
(B) Uttarakhand
(C) Madhya Pradesh
(D) Kerala

A-12
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(A) 45
(B) 41
(C) 49
(D) 44
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(C) 139
(D) 149
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54. Which period was known as ‘The Golden
Age’ of ancient India?

(A) Maurya Age
(B) Kushana Age
(C) Satabahana Age
(D) Gupta Age

53. Which one among the following is not
composed by Kalidasa?

(A) Abhijnana Shakuntalam.
(B) Mudrarakshasam

(C) Raghuvamsam

{D) Kumarasambhavam

56. Lionisconserved in which National Park of
India?

(A) Corbett
(B) Gir

(C) Kaziranga
(D) Jaldapara

57. Name the disease caused due to deficiency
of iodine in our diet.

(A) Myopia
(B) Goitre
(C) Scurvy
(D) Anemia

58. Which one of the followmg is an example
of the Ferrous Metal?

(A) Copper
(B) Tin

(C) Bauxite
(D) Nickel

A-13
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Ta e

(A) cnd s
(B) Tl
(C) Ao ol
(D) @€ o

55, AT IewalET WY WG FRFWiEE @«

L3k
(A) SfowigTe
(B) R
(C) T
(D) TS

56. g afro =0 Siaed G S Sl ¢
(A) T
B) foim
(C) FifEa
(D) wwrmisiret

57. SNME i WESE o) 3@ @i
@i orat o e

(A) et
(B) 45T
(C) =S
(D) eniffm

58, feRRS St W @B clzabe
qg?
(A) s
®) o=
(C) B
(D) = -
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59. A, B and C start a business together. In a
year they earn Rs. 29,000. If the ratio of investment
ofAandBis3:2andthatof B: Cis5: 2, then A
earns

(A) Rs. 15,000
(B) Rs. 14,000
(C) Rs. 16,000
(D) Rs. 18,000

60. Deficiency of which vitamin is responsible
for rickets in Children?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

61. Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Agriculture
(C) Banking
(DY Education

62. Who was the first Foreign Minister of Free
India?
(A) Jawaharlal Nehru
(B) Maulana Abul Kalam Azad
(C) B. R. Ambedkar
(D) Sardar Vallabhai Patel

63. Three bells toll together and then at an

. 1 2 :
intervals 35, 2-5 and 15 seconds respectively.

The bells toll again after

(A) 10 seconds
(B) 8 seconds
(C) 12 seconds
() 15 seconds

A-14

59. A, B, C <36 T ©F I | Gro O
29,000 B! 71 I+ | A @ B9 FEHTAE SAg
3:2 g B € C-I9 Tl TAe 5 : 2 2, O
A TT A2

(A) 15,000 Bt
(B) 14,000 Bzl
(C) 16,000 Bt
(D) 18,000 T3t

B

60. T FeBGR Tl Rt o G zad |
(A) TeBitE A :
(B) feuifs@ B
(C) TE6ifE C
(D) f&oitm D

61. @X qIey T BRSS! OIETHYS
R iy Twm
(A) A <ifdey
(B) ¥R
(©) afER
(D) i

62. T orared A Roed @ rm e
(A) TREZIE (WP
(B) GIETRISIYE Sl S
(© . =3 STy
(D) THIA THSSIR ANB

63. 9o TAretig fonlB w5t T e | SiFsid

1 1 2
@12.[135 CFS, 25 CITT 933 15 TS 71

qicer| O €3 foal 1B AT @ A 7

G MG ©f &
(A) 10 &S
(B) 8 GTT®
(C) 12 GTFe
(D) 15 CTIS
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64. Who is the author of the book ‘Sllcnt
Spring’?
(A) Rachel Carson
(B) Charles Darwin
(C) Adam Smith
(D) None of them

65. The length and breadth of a rectangular
areaincreased and decreased respectively by 10%.
Then the percentage of reduction/increase of the
area is

(A) 0.9%
B) 1%

© 1.1%
(D) 2.1%

1
66. A man donated 10 of his money to a

1
school, g of the remaining to a church and the

remaining money he distributed equally among

his three children. If each child gets Rs. 50,000,
then the man originally had

{A) Rs. 1,50,000

(B) Rs. 2,00,000

(C) Rs. 2,50,000

(D) Rs. 3,00,000

67. The sum of the numerator and denominator
of a fraction is 4 more than twice the numerator. If
the numerator and the denominator are increased

by 3, the fraction becomes % The fraction is

-

(A)

[
o

(B)

|°°\o|<.n

©

o

)

e

O |~ -
—

64. ‘T3 (Silent Spring) ALHT ETIF &2
(A) S T
(B) Bl TIRoRs
(C) surer g
(D) JT= G (T8 A

65. G HTSIPIT CFiga T 10 #1901 ST
T AR =Y 10 O TG | TS T T
AT (IS T NS G 7 FACE ?

(A) 0.9 *@res
(B) 1*wied

(C) 1.1 =ioiget
(D) 2.1 *rItH

66. «ﬂﬂﬂjﬁ?@ﬁtﬂmﬁ 1o T T W @RI
s o — Wmaﬁfﬁ@ﬁ@maa\wﬁm
mﬁ%mmmfwmmwm
T 7 | T &TeFF I 50,000 BP0 #iT, OIgEe

I ST #AfRe =1
(A) 1,50,000 Bt
(B) 2,00,000 Bt
(C) 2,50,000 Bt
(D) 3,00,000 Bt

67, I SN LI @ T SR ST
AT RRYTI (A 4 @R | 7 711 @ 70 3 7
G 2 O g Sl % | oreE Rl

(A)
(B)
©
D)

LI Zleo vl 5] G
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68. A steamer travels 90 km downstream at the
same time as it takes to travel 60 km upstream. If
the speed of the stream is 5 km/hr then the speed of
the steamer in still water is

(A) 20 km/hr
(B) 15 kin/hr
(C) 25 km/hr
(D) 30 km/hr

69. During which Governor General’s reign
the partition of Bengal was declared in 1905?

(A) Lord Curzon

(B) Lord Wellesley

(C) Lord Amherst

(D) Lord William Bentinck

70. A train passes a bridge 264 m long in
20 sec, but it takes 8 sec to cross a signal post of the
rail line. The speed of the train is

(A) 83.6 km/hr
(B) 79.2 km/hr
(C) 64 km/hr

(D) 72.8 km/hr

71. The number nearest to 100000 exactly
divisible by 2,3, 4, 5,6 and 7 is
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72. A farmer grows paddy and jute in his
35 bighe of land in a ratio 4:3. He earns as profit
Rs. 2,500 per bighe from paddy and Rs. 2,800 per
bighe from jute. The ratio of profit from paddy and
jute is

(A) 25:21
B)5:4
(C) 23:22

D) 4:5

68. T PO @Ived SFEE 90 [ @

60 Bf oﬁtﬂ@wnml _
W%%ﬂwﬁamm Bl

(A) 20 &R
(B) 15 ff/ast
(©) 25 Rfrast
(D) 30 fFiras

69. SIS (TN Sodq (EAEEE IHSIE

- 1905 395t wwrew (aifie zAfkee

(A) =6 P

(B) o1% SEETAR

(C) =76 SIT=rs

(D) =T 2o (5%

70. a3 @7 264 Fow oy sl &g
20 GRS SIS (A G3R (FEEd A I
YT 8 GRS ol T | O G oS =&

(A) 83.6 &=l
(B) 79.2 et
(C) 64 Rf/acst

(D) 72.8 FRefsirast

71. 100000-43 RIS @ A 2,3,4,5,6
@3 7 Tiw Reren ¢t 2=
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72. .4EA F7F ©fF 35 9 WRiCS 4:3 SATS
Y1 @ =I5 518 Ta | 7 7 &S fawma «1 @ «ib (U
TYF 2,500 BIF @72 2,800 BIF =1 i O 4
@ A6 Hia OF #od SaArS

(A) 25:21
(B) 5:4
(C) 23:22
(D) 4:5
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73. The Information Technology Act in India 73. ©IRCS SATAGEIT (GIERART [l w%ﬁ{f@

was passed in HiEH A TEE
((g; ;338 ' (A) 1990 A
© 2010 (B) 2000 it
(D) 2005 (C) 20101
(D) 2005 Fte=

74. World Environment Day is
| (A) 22nd December

74. T AR T o faaiore 3ot e

(A) 2204 9w
®) IstMay (B) 151
(C) 6th February &
(D) 5th June ©) 62 e
(D) 5% A
: 75. If x+2+ =7 ,thenx= 75. AW x+2+ =7 T, OIFE x =
1+ [+—F
1.1 1.1
5 3°5
88 88
(A) T (A) T
‘- 87 87
; B) 10 (B) 19
9] 91
© 1 © o
89 89
) o (D) T

F 76. The salary of a person is reduced by 25%.
| The percentage increase of the present salary to get

76. 9T JYET (@A 25 O™ FAG | TEA

(T TS *OIH QI 2T ([ o A e

back the earlier salary is .
(A) 35% (A) 35%reie
B) 25% (B) 25 =iz
(©) 20% (C) 20 ‘l‘f@f“\"f
o) 33% % (D) 33 oiet

77. Indigo Rebellion (1859-60) took place in

77. e Rz (1859-60) Zates

(A) Bengal (A) e
(B) Andhra Pradesh (B) wrmelTie
(C) Uttar Pradesh e
(D) Kerala (©) T

} (D) ="
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1 ' 1
78. If Z of a number is added to g of that

1
number, the result is 15 greater than E of that

number. The number is
(A) 160
(B) 190
(C) 180
D) 170

79. A man buys postage stamp of 25 paise and
50 paise for Rs. 10. He buys 28 stamps in all.
Number of 25 paise stamp bought by him is

(A) 16
(B) 20
©) 12.
(D) 15

80. Inhuman eye the part which allows lightto -

enter into the eye is
(A) Retina
(B) Pupil
(C) Eye lens
(D) Cornea

81, The difference of the compound interest
and simple interest on certain amount at the rate of
10% for 2 years is Rs. 50. Then the amount is

(A) Rs. 6,000
(B) Rs. 5,000
(C) Rs.7,500
(D) Rs. 4,500

82. If 3 men or 4 women can earn Rs. 480 in a

day, then the amount that 6 menand 11 women will -

earn in a day is
(A) Rs. 2,380
(B) Rs.2,320
(C) Rs. 2,280
(D) Rs.2,220

1 1
78, R AT - I € T 3 O
Al i) T @ G ~Aten! A O GBI

1
5 T (AT 15 SES | HLGis =

(A) 160
(B) 190
(C) 180
(D) 170

79. 9% TE 25 T @ 50 1T R 10
G @ | (7 T (15 287 TRt T I
SR 25 PR VIS T 1o d AN &

(A) 16
(B) 20
© 12
D) 15

80. WEEd GIAd @ o (B et Ae
(A) c@foa at=fFs
(B) Pupil qi Sl
(C) Eye lens S (57T 15
(D) St A SeoweGe

81. &g <M bieim 10 WO JF 2 IS
e I '@ e TR S 50 B | SIEgE Bt
sifanie 2= '

(A) 6,000 B
(B) 5,000 Br=
(C) 7,500 Bt
™ 4,500 B

82. Tfit 3 T oA W14l 4 T qfeeT e 480 Bt
W 7R O 6 O AFa ¢ 11 T SReN GHM T
Bidl o A ?

(A) 2,380 Bigt
(B) 2,320 513
(C) 2,280 Bl
(D) 2,220 5




83. A, B, C can do a piece of work together in
15 days. B alone and C alone can do the work in
30days and 40 days respectively. A alone can dothe
work in

(A) 60 days
(B) 30days
(C) 120 days
(D) 75 days

84. Jhumpa Lahiri is a famous
' (A) Dancer

(B) Author

(C) Actress

(D) Athlete

85. In ancient India the famous Nalanda
University was founded by

(A) The Maurya Emperors
(B) The Chola Emperors
(C) The Gupta Emperors
(D) The Pallava Emperors

86. Who among the following wrote the song
‘Vande Mataram’? ‘

(A) Rabindranath Tagore

(B) Bankimchandra Chattopadhyay
(C) Abanindranath Tagore

(D) Dwarkanath Tagore

87. Tron ore mines of Mayurbhanj are located
in
(A) Odisha
(B) Gujarat
(C) Kerala
(D) Rajasthan

A-19 EMRI/22

83. A,B,C %@ @0 e 15 e R o163
JIEL B @R C GFt G A INFE 30 e @
40 TR o1 [ A 6% T T T oin ey

(A) 60 faer
(B) 30 W
(C) 120 =
(D) 75w

84. it =RG ZEW e [re
(A) T
B) @R
(C) SfStat
D) Freifin

85. it ©Iarey Rupe e RRme
Bloi FRABLE

(A) G Serioa
(B) Colet Frioay
(C) g FFHa
(D) #Fa =

86. fEfeiRe Ufewm g @ aw Temw Al
5 AT ?

(A) TN DTE
(B) AM%be GLBIoMG
(C) waImmId 55

(D) BT S5

87. WHeEH (T2 S 4 w1iFe o e,
il ==

(A) e
(B) wwaG
(C) @
(D) srerg
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88. In aschool there were 660 students and the
ratio of the number of the boys and girls was 13 : 9.
After a few days 30 girls joined the school and few
boys left the school. As a result, the ratio of the
boys and girls become 6 : 5. The number of boys
left the school is

(A) 40
(B) 50
(©) 30
(D) 60

89. Raju sells two calculators for Rs. 1,500
each. He earns a profit of 25% on one and suffers
a lose of 25% on another. The profit/loss of the
person is

(A) Rs. 100
(B) Rs. 200
(C) Rs. 300
(D) Rs. 350

90. In 1972, the population of a village was
2000. In 1982 male population was increased by
10% and female population was decreased by 6%
but there was no change of the total population.
Then the male population in the year 1972 was

(A) 730
(B) 750
(©) 720
(D) 770

91. Magbool Fida Husain was a famous Indian
' (A) Singer

(B) Artist

(C) Author

(D) Journalist

92, ‘Bihu’ is the folk dance of
(A) Rajasthan
(B) Punjab
(C) West Bengal
(D) Assam

. A-20

88. T A 660 TH YA BF 4R TG
w3 I SIS 13 : 9 | gl #19 30 & WA
2 62 I o 3R g = 6B e (R0 A
BT A | O T UG @ B T STAC T 6 : 51
TouH B 68 e (T 5 IW?

(A) 40
(B) 50
(©) 30
. (D) 60

89. =% 46 W e 1,500 B R
TE| (T GIHOT 25 Ol =S IFE 93 FYHBLo
25 *roice %S T | O O Fre/on A 2

(A) 100 B
(B) 200 St
(C) 300 =
(D) 350 B

90. 1972 A I ATE TRYT 2000 fo |
1982 St 2JFead IR 10 <o I« @<k
TR TRAT 6 *1SIeT B A | Tte (B TR
9% AT | SIRCA 1972 T #Fwma et B

(A) 730
(B) 750
(C) 720
(D) 770
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(B) foafst
(C) @4F
(D) AU
92, ‘RE (@IUFIA EF7G ?
(A) 9rergiF
(B) g
(C) ioaam
(D) =

e




J3AQ wIny, asea[q

lelisd) (@)
I=@ls (D)
oklsea ()
Rislre (V)
¢ foks BIEOIS Jolo) Besia Gk llblbd: “L6

091001 (@
061001 (D)
081001 (D)
041001 (V)

¢ lalabl [B1b STT ik koRdE: SdIlg 5% ojd) ‘96

delEadk (@)
Gelakdlslie (D)
azlalz) (g)
azlisb (V)
03]
Sl 58IlI) albel) file blolallullsq BO *S6

| Bela BEINS foltelieln, i) Biailie ()
| Leig)
Bioluble, lieliele 104D drRlz 6 bejeab] (D)
| Gl Blblialiele ()
. | feln SBOQIS Sldde (V)
2feln BIOID 1% |ls Mg BlRbTs Johie *p6

&k (@)
(2L22) W8 (D)
b (@)
able (V)

Abb 1% dladlls) *¢6

A4/ 11K v

ey (q)
BYSIPO (D)
pueperenn (g)
enysereen (V)

$BIPUI

JO SJEIS YOI JO S0UBP SY) ST [ENEEY ‘LG

091001 (@)
061001 (O)
081001 (&)
0L1001 (V)

ST S1T Aq 21qIstAzp
AJoexa ST UOTyMm Jaquunu 15eo] J1SIp XIS UL 96

aapIs (@
ameudely ()
Aneway (g)

axneq (V)
£UOII JO 910 U J0U ST JUO YOIYA 'S

"aInjelaN upaouenUoLad jueIUq 10 ()
*A8orouyas) pue
Q0UIIDS UI JUSWAASILOR JURI[[LIG JO (D) E
"9J1A13S [eI00S 104 (g)
‘Sowes pue
spods ursoueuLoped Sutpueisino 1o (V)

{UOAIS ST pIEME BUN(IY PIOY YoM U] b6

ussaq@ ()
aeT (O) .

JoATry ()

ureunoy (v)
B SLYeO] €6 -




EMRI/22

98. Which of the following is a plant hormone?
(A) Insulin
(B) Thyroxin
(C) Oestrogen
(D) Cytokinin

99. Headquarters of the United Nations is in
(A) New York
(B) Washington
(C) London
(D) Paris

100. 3 men and 4 boys can do a piece of work in
14 days, while 4 men and 6 boys can do the same
work in 10 days. A boy can finish the work in

(A) 140 days
(B) 130°days
(C) 150 days
(D) 120 days

A-22

98, Fryealm Wy @Rt 3 S eim e
(A) T
(B) <izafEe -
(C) TZw™
(D) AR

99, wifesTress 2y FRfem wafze =
(A) Pz
(B) GTRGH
(C) a8
(D) et

100. 3T FEIF AR 4 & T GFD T 14 A o4
TS 2IITH | SE D 4 T AR IR 65 EE 10 T
A | G TP TOH 0 <18 FIE =

(A) 140 s

B) 130 fA

(C) 150 i

(D) 120 fs
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Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.

| 7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. The denominator of a fraction' 'efxgeedst its 1. 93 SRR 1 #1a (0@ 4 @R A 7T
numerator by 4. If both the numeérator and

~ . . 4
denominator are increased by 3, thé new 'fraction 8 ?)31'-(?1‘5 3 (R AT 2W O Tod Salici 2 3 l

4 .
becomes 3 The original fraction is | ot e i &=
13 13
(A) 17 g
12 '
— ®B) =
P | "
11
ol <C =
©) 17 _ }Z
14
14 . D) —
2. ‘Who among the following published “The 2. & WA A FEkEE L
Resari™? . L (a) T R
(A) Mahatma Gandhi (B) ®sie fig
(B) Bhagat Singh - rﬂaetm;a
(C) Balgangadhar Tilak ©) g foore
(D) B.R. Ambedkar D) R == Segwew
3. Methanoic acid is present in the \_ 3. T wite A
(A) Sour milk : (A) 3?5‘1@
(B) Tamarind B) T
C) Orange )
© & (C) TTATS
(D) Ant sting _
(D) fsite w=
4. Inaflood relief camp there was a provision 4. %6 e MRk 1000 &= IR 100

of food for 1000 people for 100 days, after 25 days, T e e 1 25 e <19 250 & @19 S0 50

250 people went away elsewhere. Number of days | 3 EFTE SIS AKE 5AE
the remaining food lasts for remaining people is ) ' )

(A) 100 days g;; ;g?ﬁf—f
(B) 90 days O o
(C) 200 days O
(D) 160 days

I T



5. A student secured 32% marks in an
examination and failed by 12 marks. Another
student secured 42% marks and got 28 marks more
than the pass marks. The maximum marks of the
examination is

(A) 500
(B) 600
(C) 400

(D) 700

6. The time at which a sum of Rs. 1,600
becomes 1,852.20 atan annual rate of interest 20%
compounded quantity is

(A) 3 months
(B) 6 months
(C) 9 months
(D) 12 months

7. Fiveyears ago, the father’s age was § times
that of his son’s age. Five years hence, the sum of
their ages will be 65 years. Father’s present age is

(A) 50 years
(B) 40 years
(C) 45 years
(D) None of the above

8. Who is the present Chief Justice in the
Supreme Court of India?

(A) Ranjan Gogoi

(B) N. V.Ramana

{O) Dhanahjaya Yeshwant Chandrachnd
' (D) None of them

9. A number of two digits exceeds four times
the sum of its digits by 6. It is increased by 9 on
reversing the digits. The number is

(A) 45
(B) 43
(©) 34
(D) 54

. &t
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. s, uﬂzﬁmwﬁmuszwwmﬁmm\
12 TG G G IS0 3 I 42 551l 7 A
G2 % THE (A0F 28 799 (@M oI 163 AR (WG

KT

(A) 500
(B) 600
(C) 400
(D) 700

6. tafe wwg om AT 20 WO @
1,600 Bt ¥ S0a -7 1,852.20 Bet =11
A A 28

(A) 33
(B) 637
(C) 9w
(D) 129

7. 5 q5d <1< et I3 +{uas I 8 et f2d |
Q4 (A 5 T o7 oot @ A @b I 7]
65WIWWW€°‘T

(A) 50 3=
(B) 4038
(C) 4537F
(D) TR DR T

8. ©lqrea AR (@Ih 6N gy Rorefe

(A) 3ge it

B) @ . fo. Tm

(C) W& TIRE SHFS
(D) 0 NG (FOF 7

9. ¢ 36 ¥R SHT Y ©iF Sl @eeETE
4@‘1@@6@?“1117?‘5@@%9@?@%%
mﬁ9qi‘%mlﬁvmﬁﬁ
(A) 45
(B) 43
(€) 34
(D) 54
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10, The acid present in the lemon is’
(A) Lactic acid '
(B) Oxalic acid
(C) Citric acid
(D) Acetic acid

11, Jim Corbett National Park is situated in
(A) Uttar Pradesh
(B) Uttarakhand
(C) Madhya Pradesh
(D) Kerala

12, In ancient India the famous Nalanda
University was founded by

{A) The Maurya Emperors
(B) The Chola Emperors
(C) The Gupta Emperors
(D) The Pallava Emperors

13, Who is the author of the book ‘Silent
Spring’?
(A) Rachel Carson
(B) Charles Darwin
(C) Adam Smith
(D) None of them

14. Baba Amte is associated with which
movement in India?

(A) Save Ganga movement
(B) Save Narmada movement
(C) Chipko movement

(D) Tebhaga movement

15. The ratio of milk and water in three equal

. pots are in the ratios 3:1, 5:3 and 9:7 respectively.

Then the pot in which milk is more than water—
(A) Equal milk in all pots
(B) 3rd pot
(C) 2nd pot
(D) 1stpot

B-4

10, ~RTRER g @ Wi G, G -
(A) s e
(B) Wit wmiffw
(C) ARG =i
(D) STAbE e

11, B st =l Banie e wRiEwe
(A) ToRems
(B) TeEwle
(C) gt
(D) @=e

12, bR wrves e fRRwem S
RfRvpte Foin FafREW
(A) G wear
(B) o1t wiG
(C) ad wEiHat
(D) *BR ot

13. ‘7% 7%’ (Silent Spring) A% @IT ¢
(A) TEE I
(B) b wielan
(C) wgrer Fag
(D) dvia Wy 8L e

14. IR SIS SIFCS (I HCHEACR AR T 2
(A) =t Si5te |iTHiEw
(B) Tt iots e
(C) oot =we™
(D) CTSia S

15. foaf =W *Ig 54 '8 &CeTg SHAS 3: 1,
5:3,9: 7| @ S SGTa S 7Y (QR—

(A) T 1T F 7Y

(B) PO i

(C) &7 itg

(D) =2 g



16. The sum of two numbers is 150 and their
H.C.F. is 15. The numbers are

(A) 60,90
(B) 30, 120
(C) 75,75
(D) 45, 105

1
17. A man donated 10 of his money to a

6 of the remaining to a church and the

remaining money he distributed equally among
his three children. If each child gets Rs. 50,000,
then the man originally had

(A) Rs. 1,50,000

(B) Rs. 2,00,000

(C) Rs. 2,50,000

(D) Rs. 3,00,000-

school,

18. Qut of 8000 candidates, 60% were boys. If
80% of the boys and 90% of the girls passed the
examination, number of candidates failed is

(A) 1260
(B) 1270
(C) 1250
(D) 1280

19. Who was the first Foreign Minister of Free
India? '
(A) Jawaharlal Nehru
(B) Maulana Abul Kalam Azad
(C) B.R. Ambedkar
(D) Sardar Vallabhai Patel

20. The number nearest to 100000 exactly
divisible by 2, 3,4,5,6 and 7 is
(A) 100030 '
(B) 100010
(C) 100020
(D) 99960
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16. 96 TR GASF 150 =7 I A3 &

15131 76 =

(A) 60, 90
(B) 30, 120
© 175,75
(D) 45, 105

17. «qasaﬁ@@ﬁmafa ik Ghuiel
?nﬁswm = wwwﬁeﬁ@smnﬂa T it
WW@W@HW@WW@W
L (7 1 TR 2ATOT T 50,000 B1 L #A1, Ol

oig wdd wifme ==
(A) 1,50,000 Bisst
(B) 2,00,000 GBIzt
(C) 2,50,000 B
(D) 3,00,000 GiH

18. 3000 &« &ty g 60 *oi (=get| T
80 *eieH (2lF G2 90 TSI (T A I O [
AT A ==

(A) 1260
(B) 1270
(C) 1250
(D) 1280

19. %AW oETed 2w iR & feew 2
(A) TSZFAIT LT
(B) GTETH SIS H&AI SAEw
(C) R =3, ST
(D) TMIa ISR e

20. 100000~97 FF6ae! @ 7AiM 2, 3,4, 5, 6
932 7 fara Rereg @it ==
(A) 100030
(B) 100010
(C) 100020
(D) 99960
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21. Which Mughal Emperor took the title of
‘Alamgir’?
(A) Akbar
(B) Jahangir
(C) Aurangzeb
(D) Shah Jahan

22, Which of the following is a plant hormone?
(A) Insulin
(B) Thyroxin
(€) Oestrogen
(D) Cytokinin

23. A, B and C start a business together. In a
yearthey earn Rs. 29,000. If the ratio of investment
of AandBis3:2andthatof B: Cis5: 2, then A
earns

(A) Rs. 15,000
(B) Rs. 14,000
(C) Rs. 16,000
(D) Rs. 18,000

24. The ratio of two liquids A and B in a
mixtureis 2 : 3 and that in another mixtureis 5 : 4.
To getthe equal quantity of the liquids A and B, the
required ratio of the two mixtures is

(A) 3:7
B) 4:9
(©) 6: 11
M) 5:9

25. A gardener has 1400 plants to arrange in
same number of rows and columns in a square
field. The minimum number of more plants required
to make such arrangement is

(A) 45
B) 41
) 49
@) 44

21, (I YR IR SR Sy oz
AR 2
(A) S=a
(B) TR
(C) ENSTHER
(D) iz =R

22, FrEiEele Wy mﬂ%aﬁ@f@w*«cﬂm
(A) TR
B) EARm
(C) TFitem
(D) ARG

23, A, B, C 9=f6 gio oF 39+ «ro o
29,000 Bl =S 7| A 8 B-93 JeUCIR S
3:2 @R B 8 Cq7 T S#l© 5: 2 T, OF
A TS ALY

(A) 15,000 Bt
(B) 14,000 Brt
(C) 16,000 B
(D) 18,000 B

24. {6 R A 932 B SIS oIS 281 i
2:3 935 417 R @ SIS GriiesT A @ B
SRR SIS T TR A =

(A) 3:7
(B) 4:9
() 6:11
(D) 5:9

- 25, @ e ©IF IS A9 1400 S T
L A1 8 TN TGS B | FAATE g Foaf
oM T RSN AIGC M 2

(A) 45

(B) 41

(C) 49

(D) 44
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26, The sum of the numerator and denominator 26. G0 SIS IR @i GO
of a fraction is 4 more than twice the numerator. If TR TR (AT 4 @t | T 7 @ |0 3 I
the numerator and the denominator are increased el T O A9 Ol W % | SIZ SR T

by 3, the fraction becomes 2 . The fraction is (A) —
L ;
= 8
© 2 7
11 (D) 3
(D) z
9
27. Inhuman eye the part which allows light to 27, ES GIAT @ S Gt |G 2
enter into the eye is TS (74, GG = '
(A) Retina (A) @bt ar wfsefe
(B) Pupil (B) Pupil 31 SFFwi!
(C) Eyelens
(D) Comea (C) Eye lens 9l (BT (¢
(D) it 4t Sgmameite
28. A chemist has a solution which has 50% 28, A AN P SOOI SYIHE 3

acid and another solution which has 25% acid. The 25 *{oiee SIS 7ib 739 Witz | 10 5 40 =R

amount of two solutions required to make 10 litres w5ifErs TR DoTR TS H4e 4SS SARIe A
of 40% acid solution are o

9,4 g
(A) 6 litres, 4 litres ((1; jﬁ%ﬁ,6ﬁﬁm
(B) 4 litres, 6 litres © 7 54, X =01
(C) 7 litres, 3 litres =151, 3 fib
(D) 3 litres, 7 litres (D) 3 foiorm, 7 T
29. Which one among the following is not 29, S5 ToaRE G @G IiEWEE @
composed by Kalidasa? S

(A) Abhijnana Shakuntalam )
(B) Mudrarakshasam e ey

B :
(C) Raghuvamsam (B) T@rs=s
(D) Kumarasambhavam (C) TF™Y

(D) T

Please Turn Over



EMRU22

30. A fruit vendor buys certain number of
bananas. If the selling price of 5 bananas is equal
to the cost price of 6 bananas, then his profit or loss
percentage is

(A) 20%
(B) 25%
(©) 15%
(D) 30%

31. During which Governor General’s reign
the partition of Bengal was declared in 19057

(A) Lord Curzon

(B) Lord Wellesley

(C) Lord Ambherst .
(D) Lord William Bentinck

32. Who wrote ‘The End of History’?
(A) Michel Foucault
(B) Francis Fukuyama
(C) Sigmund Freud
(D) E. H. Carr

33. Who appoints the Chief Justice of the
Supreme Court of India?

(A) Prime Minister of India

(B) President of India

(C) Vice President of India

(D) Speaker of the Lok Sabha of India

34. Mr, Bose’s monthly income is Rs. 16,000.

I
. He spends — of his income on food. Out of the

4

remaining, he spends 0°" house rent and 22 °on

the education of his children. Money he saves per
month is

(A) Rs. 5,700

(B) Rs. 5,800

(C) Rs.5,900

(D) Rs. 6,200

30. 9% TGl g AT T T FE I A @
It 66 TN @9 T (72 Wi 5T et Rern |
Y Fife/Hed AR To?

(A) 20 *atext
(B) 25 =@
(C) 15 ==
(D) 30 *wige g

31 SRS (I AONG (SANTETR TR
1905 T35 IR (iR Al ?
(A) =76 e
(B) &6 SEETAR
(C) =16 wiwEry
(D) =16 T3fmm &

32. W 9 9§ 2%’ (The End of History) &
o1 TR 2
(A) e e
(B) Zifomt Tpeam
(C) Pt Tae
(D) % «%5. 31

33. ©iared AT @G = RewHfee @
s 3=

(A) SRS AR

(B) wlaced Agafe

(C) =iFrsd SRR

(D) ©lted EiFTei PRE

34. . @R T =T 16,000 5191 | (T Ol 63

1
g wamwwmlaﬁww

3 5
EWQ‘T@W@&?K 24 S BT TR

. <=5 0 | ot M AeEm Al =

(A) 5,700 Bt
(B) 5,800 it
(C) 5,900 Bt
(D) 6,200 Bil




35, Ratio of three positive numbersis2:3: 5,
sum of whose square is 950. Then the numbers are

(A) 2,3,5
(B) 8,12,20
(C) 10,15,25
(D) 12, 18,30

36. Three bells toll together and then at an

: 1 2 :
intervals 35, 25 and 1; seconds respectively.

The bells toll again after

{A) 10 seconds
(B) 8 seconds

(C) 12 seconds
(D) 15 seconds

37. World Environment Day is
{ \) 22nd December
(13) st May
(C) 6th February
(D) 5th June

38. Muanish sold his watch at 10% loss, If he
had sold for Rs. 54 more, he would have made 8%
profit. The selling price of the watch is

(A) Rs.490
{B) Rs. 350
(C) Rs. 270
(D) Rs. 420

39. The difference of the compound interest
and simple interest on certain amount at the rate of
10% for 2 years is Rs. 50. Then the amount is

(A) Rs. 6,000
(B) Rs. 5,000
(C) Rs. 7,500
(D) Rs. 4,500

B-9 EMRI/22

35, R 4 MY ST 2:3:5 O
IR LS ST 950 | S e fowl ==
(A) 2,3,5
(B) 8, 12,20
(C) 10, 15,25
(D) 12,18, 30

36. =i Fefa =G 9551 e i | oFsil
1 1 2
oi|t 35 FTT, 25 CITT GR 15 GRS g

qw | ot ¢} A IR Paow @ W SR
PR TR O 5

(A) 10 FIFS

(B) 8 GT®

©) 12T

(D) 15 CTES

37. Ry sifsra s’ ot frfore <ot e
(A) 2201 forge
(B) 11t
(€) 63 AR
(D) 529

38. WA g6 1% 10 *rsivd wiers RiF w13
7% T 54 Gret Pt wite f{fer wwre ora 8 *oi
e T9© | ¥ieibd Rerayey 26

(A) 490 Bt
(B) 350 Bret
(C) 270 1=
(D) 420 B

39, g «fFE0d TEE 10 *oied TNA 2 TRE
5 I \8 e E SEH 50 BI | O BIH
st Z=

(A) 6,000 izt
(B) 5,000 Bl
(C) 7,500 Bt
(D) 4,500 B

Please Turn Over
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40. Headquarters of the United Nations is in
(A) New York ) :
(B) Washington
- (C) London
(D) Paris

41. A farmer grows paddy and jute in his
35 bighe of land in a ratio 4:3, He earns as profit
Rs. 2,500 per bighe from paddy and Rs. 2,800 per
bighe from jute. The ratio of profit from paddy and
juteis _ ’

(A) 25:21
(B) 5:4
(C) 23:22
(D) 4:5

1 1
42, If Z of a number is added to 5 of that

1
number, the result is 15 greater than 5 of that .

number. The number is
(A) 160
(B) 190
(C) 180
(D) 170

" 43. The least number that must be added to
6412 10 get a perfect square is

(A) 141

(B) 129

© 139

(D) 149

44. A bag contains of rupee 1, 50 paise and
25 paise and the ratio of the values of the coins is
4 : 5: 6. Then ratio of the numbers of the coins is

(A) 3:5:7
®B)2:5:12
() 2:5:9
(D) 2:3:10

B-10

40, GIfSTERE due Fffe sREe =
(A) P
(B) eHRABH
(C) =t
(D) =hifaet

41. 9T TI$ OF 35 Rl wfiee 4:3 Sgsiice
g 8 *if5 517 39 | &7 T &S Rty 4= @ 46 W
TR 2,500 TR W3R 2,800 Bil &7 I O 4
8 75 BITA OIF TS S

(A) 25:21 -
(B) 5:4

(C) 23:22
D) 4:5

' 1 1
42. GO AT = @3 WA 3 e
e e FEET @ AL Ahen g ©f €% WAW
1
> et (ATF 15 ufgF | 7L ==
(A) 160
(B) 190

(C) 180
(D) 170

43. 6412-93 ANY @ "Fuox AAT @A FHCE

. #efasf TR sten AR GIf =

(A) 141
(B) 129
(C) 139
(D) 149

44. a3 Afere g WUF 1 B, 50 <P,
25 AT 7 R | W O [T AT 4:5:6 %0
R O AR SN 27

(A) 3:5:7
(B) 2:5:12
(C) 2:5:9
(D) 2:3:10



45. Which one of the following was published
by Raja Rammohan Roy?

(A) Sambad Kaumudi

(B) Hindu Patriot

(C) Sandhya

(D) The Enquirer ‘

46. Iron ore mines of Mayurbhanj are located
in

(A) Odisha
(B) Gujarat
(C) Kerala
(D) Rajasthan

47, Inaschool there were 660 students and the
ratio of the number of the boysand girls was 13 : 9.
After a few days 30 girls joined the school and few
boys left the school. As a result, the ratio of the
boys and girls become 6 : 5. The number of boys
left the school is

(A) 40
(B) 50
© 30
(D) 60

48. Salim Ali is a famous
(A) Entomologist
(B) Ornithologist
(C) Virologist
(D) Archaeologist

49. The length and breadth of a rectangular
areaincreased and decreased respectively by 10%.
Then the percentage of reduction/increase of the
area is )

A) 0.9%
®) 1%

©€) 1.1%
D) 2.1%
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45, fafeide sifqstala swg et g a9
TS g AfeHo
(A) 3 Gt
B) g e
(C) vl
(D) W SRR

46. VYOG L A A oGS (F Aie,
eI G
(A) efei
(B) wedl
(C) crar
(D) =g

47, I FA 660 T QA o 9k 29 @
BRI TR A 13 - 9| Regfaet 719 30 s wgA
R SR AN o 3R g R SR e (2T S
BT T | O T B 8 R g SIS =X 6: 5 |
Tou B 6% Fe (O B WA 2

(A) 40
(B) 50
(©) 30
D) 60

48. ifew =Hifer gEm aTe [t
(A) ATRRR
(B) *FFifw
() sizamim
(D) dgogRm

49, T TSI CHLET T 10 ISR IS
25 @2 2 10 eI FACH T G0S FE TG
CPEBR CHIP FO O G I P 2

(A) 0.9 =9
(B) 1 %oz

(C) 1.1 =@t
(D) 2.1 =%

Please Turn Over




EMRI22°

50. The number of biggest squared-shaped
stone required to cover a rectangular area of sides
45 mand 33 mis

(A) 175
(B) 165
(C) 155
(D) 145

51. Jhumpa Lahiri is a famous -
(A) Dancer
(B) Author
(C) Actress
(D) Athlete

52. Aparnahasenoughmoney tobuy 36 oranges
atarate of Rs. 4.50 per orange. Number of oranges
she buys when the rate per orange is increased by
90 paise is

(A) 30
(B) 27
(C) 33
(D) 36

53. A, B, C can do a piece of work together in
15 days. B alone and C alone can do the work in
30 days and 40 days respectively. A alone can do the
work in

(A) 60 days
(B) 30 days
(C) 120 days
(D) 75 days

54. What will be the angle between the hands
of a clock when the time is at 12-10 a.m.?

_(A) 25°
Y (B) 50°
(C) 60°
(D) 40° ,

B-12

50, S5 SO TR (7 @ 27 3 45 o
@ 33 [R5 2, ©IRE T© M 726 90T #iid
i €2 STeIIE AT BT (Tl TS ©f T

(A) 175
(B) 165
(C) 155
(D) 145

51. A1 S TEW s e
(A) oI -
(B) @R
(C) Sifeal
(D) Feifam

52.. Sokfi@ FitE 4.50 B W@ 368 IR
IE B ot | T 2ffefb I i 90 “t
G T SR G Fouk TEEe Rmae

(A) 30
(B) 27
(C) 33
(D) 36

53, A,B,Cudta 93 i\ 15 e R 90 168
FEH B 43R C 97 @3 T IWEFH 30 e 8
40 WA 18 I | A 93 TS0 F WA 18 900

(A) 60 i
(B) 30
(C) 120 fam
(D) 75 T

54, <ftre TS 12-10 ST HIY 901 @ G
Fivt o fEig @t o T e
(A) 25°
(B) 50°
(C) 60°
(D) 40°

T




55. Which among the following statements is
incorrect about Gandhiji?

(A) He supported separate electorates.
(B) He led Dandi March.

(C) Hestarted Non-Cooperationmovement,
(D) Heattended Round Table Conference.

56. A man buys postage stamp of 25 paise and
50 paise for Rs. 10. He buys 28 stamps in all.
Number of 25 paise stamp bought by him is

(A) 16
(B) 20
© 12
D) 15

57. The brain of human body is responsible for
(A) Thinking
(B) Regulating the heart beat
(C) Balancing the body
(D) All of the above

58. Indigo Rebellion (1859-60) took place in
{A) Bengal
(B) Andhra Pradesh
(C) Uttar Pradesh
(1) Kerala

59. Name the disease caused due to deficiency
of iodine in our diet.

(A) Myopia
(B) Goitre

(C) Scurvy
(D) Anemia

B-13 : EMRI/22

55. w7 RRFSRR g @R SRR Fics
AT 7 ? '

(A) Tof 59 (sremm foies) Fdiveadia;

s WA Taren |
B) Tof eIt T croy Ffeeem |
(C) ToT =pi=Eals StvewT gl
FAREH |
(D) TR R (ot ciswia TR |

56. 9% & 25 AT 8 50 T JETH 10 Bietw
SR @ | (1 3 G 28 TRibRE T v
O 25 #F! Wt CIeioiReR Rt 28

(A) 16
(B) 20
(©) 12
@) 15

57. NN EE AT I =T
(A) foum |
(B) T=iw=cs e T3
(C) (T SIS fame 1
(D) CHARIE IR T F

58. 1 Rarz (1859-60) z@ReET
(A) =T
(B) SI@maAC
(C) Segeme
(D) =T

59, SANTE 00 SEGET WeR” e @
G ol e -

(A) wcfsia

(B) G '
© =S

(D) =i
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- EMRI/22 B-14

60. Magbool Fida Husain was a famous Indian
(A) Singer
(B) Artist
(C) Author
(D) Journalist

61. The average weight of some number of
students is 55 kg. Among them the average weight
of 20 students is 60 kg and that of the rest of the
students is 51 kg. Total number of students is

(A) 54
B) 52- .
(C) 48
(D) 45

62. Raju sells two calculators for Rs. 1,500
each. He earns a profit of 25% on one.and suffers
a lose of 25% on another. The profit/loss of the
person is

(A) Rs. 100
(B) Rs. 200
(C) Rs. 300
(D) Rs. 350

63. If x+%><%+%=5% ,thenx=
=+=of 1=
6 5 4

(A) 5

(B) 2

© 1

D) 3

64. The dockyard was found in which of the
.following sites of Indus Valley Civilization?

(A) Chanhudaro
(B) Lothal

(C) Kalibangan .
(D) Banawali

60. WWWW&WWWV

(A) TR
(B) foafwsh
©€) T
(D) A@E

61. FEMUTRICIF 1T ST 55 (S ST TG
20 E 1 &8 60 (e 93¢ I 2GR 90 6o
51 cfer | oteget GIib o A

(A) 54

(B) 52

(C) 48 _

(D) 45 - .-

62. g 4 WEgeng dfsle 1,500 B [
TE| (T 9FIOTT 25 G 2GS FF IR SHiBCe,
25 *olee i o7 | OiegE OfF Fte/ T s &=

(A) 100 5=t
(B) 200 Bt
(C) 300 b=
(D) 350 Bt

63. 'ﬂiﬁx+£x—?{ -:-£=5-----24 ,S@x=
3 3 _11 2 4 25
617

(A) 5
(B) 2
€)1
(D) 3

64. g Fereiq (IR 9 o_ES fEwe
(A) BlRRCAl
(B) e
(C) Ife=l
(D) IeHfE




65. Who among the following won Ramon
Magsaysay Award?
(A) Ashapurna Devi
(B) Anita Agnihotri
(C) Mahasweta Devi
(D) Bani Basu

€6, If 3 men or 4 women can earn Rs. 480 in a
day, then the amount that 6 men and 11 women will
earn in a day is

(A) Rs. 2,380
(B) Rs. 2,320
(C) Rs. 2,280
(D) Rs. 2,220

67. 3 men and 4 boys can do a piece of work in
14 days, while 4 men and 6 boys can do the same
work in 10 days. A boy can finish the work in

(A) 140 days
(B) 130 days
(C) 150 days
(D) 120 days

68. In 1972, the population of a village was
2000. In 1982 male population was increased by
10% and female population was decreased by 6%
but there was no change of the total population.
Then the male population in the year 1972 was

(A) 730
(B) 750
(C) 720
(D) 770

e
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65. 0T TG (AT F A [IoAIRAR ATH
e FATRCE ?
(A) wi=itepef (et
(B) =il wifad
(C) TRITde! (vl
(D) < =7,

66. T 3 T <[4 Wl 4 T A T 480 Bt
SR (A OF 6 T 73 8 11 T el qfiv 7
B! O T2

(A) 2,380 Bl
(B) 2,320 5t
(©) 2,280 Bit
(D) 2,220 il

67. 3T EIP AR 45 I G0 e 14 T (<18
TS AT | S FGIG 4 & (15 €93 6 T 251 10 Tt
P | GG TS T S o 1% T o T

(A) 140 fiA
B) 130 f=
{O) 150 M
(D) 120 M

68. 1972 I @b AT SwAsAl 2000 f2e |
1982 e AT AT 10 *Foied I ity @<k
AR A 6 =S T A | IfFe @6 T
G AT | ©lRgE 1972 AT ey 7yt e

(A) 730 :
(B) 750
(©) 720
D) 770
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69. A mancoversadistance of 24 kmin3 E hrs

partly on foot at a speed of 4.5 km/hr and partly on
bicycle at a speed of 10 km/hr. Then the man
covers the distance on foot is

(A) 10 km

(B) 9km

(C) 11 km

(D) 12km

70. In which one of the following states is
Rawatbhata Nuclear Energy Plant located?

(A) Gujarat
(B) Kerala
(C) Punjab
(D) Rajasthan

71. In which year National Human Rights
Commission of India was established?
(A) 1990
(B) 1993
(C) 1947
(D) 2000

72. Who among the following wrote the song
‘Vande Mataram’?

(A) Rabindranath Tagore

(B) Bankimchandra Chattopadhyay
(C) Abanindranath Tagore

(D) Dwarkanath Tagore

73. The age of a man is twice the sum of the
ages of his two children. After 20 years, his age
will be equal to the sum of the ages of his two
children. The age of the man is

(A) 35 years
(B) 45 years
(C) 40 years
(D) 50 years

69. wmi%zmsﬁms% B g A
&5 4.5 RS g 6 IRHAREE et
10 Rfi/adSt sfere wfdws 07 | 6% e T 7y
I % T e

(A) 10 &
(B) 9 =&f
©) 11 3R
(D) 12 Bf

70. fAsfere AepeRa sy W e arearesnl
sz *fen wkfEe
(A) @At
(B) @
(C) =g
(D) Arerg=

71. SIS GO WwAIfEE Shim T {9
Afsfoe zafes 2
(A) 1990
(B) 1993
(C) 1947
(D) 2000

72. fesfafe afema sty & e SiWie
o+ AR ?
(A) ==L IIF
(B) af%siom BB
(C) SRAEIL S
(D) =IEIIe 513

73. ¢ & I OF M2 XE-GES [OE
TR e | 20 T2 #17 OF T A @ZEA-@ETE
IR TG AW | 63 s T =

(A) 353=d
(B) 45 74
(C) 40 7=
(D) 50 ==
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74. SIS WEACHT GIEEG A SYAe

4

74. The Information Technology Act in India

was passed in g S SEE
(A) 1990 | . (A) 1990 =T
g ;g?g | . (B) 2000
D) 2005 - (C) 2010 A
(D) 2005 T

75. ‘Bihu’ is the folk dance of

75. R @I @) ?
(A) Rajasthan

(A) TrEgH
(B) Punjab : : (B) e
(C) West Bengal 5 _
(D) Assam - ©
(D) =N

76. Who is the author of the Book ‘Wings of 76. ‘T3 WK FAT (Wings of Fire) 33/ I

Fire’? Wings of Fire is the autobiography of S R
(A) Salman Rushdie @) h “.'
(B) Arundhati Roy ‘ .
(C) A.P.J. Abdul Kalam ®) ‘ﬂﬁ:@ ElEd
(D) Shashi Tharoor (©) «. P, . wHIge her
| D) * AFT

77. In which field Asjuna award is given?
(A) Foroutstanding performance in sports

77. A FHIT Wi 9 W oW T e

p (A) Dol g @y |

and games.

(B) For social service. ' (B) TE

(C) For brilliant achievement in science () Rerre ﬁgﬁi q G SPINI SAHICTS
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78. The salary of a person is reduced by 25%.

The percentage increase of the present salary to ge
back the earlier salary is

(A) 35%
(B) 25%
(©) 20%

1
(D) 335 %

79. A train passes a bridge 264 m long in
20 sec, but it takes 8 sec to cross a signal post of the
rail line. The speed of the train is

(A) 83.6 km/hr
(B) 79.2 km/hr
(C) 64 km/hr

(D) 72.8 km/hr

80. The chemically inactive gas present in the
atmosphere is

(A) Oxygen

(B} Water vapour
{C) Nitrogen

(D) Argon

81. Kathakali is the dance of which state of
India?
(A) Maharashtra
(B) Uttarakhand
(C) Odisha
(D) Kerala

B-18
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82, If x+2+ =7 ,thenx=

88
(A} )
87
(B) 1o
91
© 19

89
D)

83. A person went to some place at a speed of
15 km/hr and returned to original place at a speed
of 10 km/hr., The average speed of the person is

(A) 12 km/hr
(B) 13 km/hr
(C) 12.5 km/hr
(D) 14 km/hr

84. In ancient India Gandhara art flourished
during the reign of

(A} Ashoka

(B) Kanishka

(C) Harsha Vardhana
(D) Dharmapala

85. Which period was known as ‘The Golden
Age’ of ancient India?
(A) Maurya Age
(B) Kushana Age
(C) Satabahana Age
(D) Gupta Age
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86. Which one of the following is not a
greenhouse gas?

(A) CO,
(B) CH,
©) O,

(D) CFCs

87. A policeman starts to chase a thief. When
the thief goes 5 steps, the policeman moves 6 steps.
Again, 3 steps of the policeman is equal to 6 steps
of the thief. The ratio of the speeds of the policeman
and the thief is

(A) 12:
(B) 11:
©) 12:
D) 12:

1

LY S B R

88. Lion is conserved in which National Park
of India?

(A) Corbett
(B) Gir

(C) Kaziranga
(D) Jaldapara

89. Which one of the following is an example
of the Ferrous Metal?

(A) Copper
(B) Tin

{C) Bauxite
(D) Nickel

90. Loktakisa
(A) Mountain
(B) River
(C) Lake
(D) Desert

B-20
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96. Deficiency of which vitamin is responsible
for rickets in Children?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) VitaminD

97. The circumferences of the front and rear
wheel of a rail engine are respectively 140 cm and
350 cm. The least distance to be covered by the
engine so that both the wheels complete their full
rotation simultaneously is

(A) 1400 cm
(B) 700 cm
(C) 1050 cm
(D) 980 cm

98. Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Agriculture
(C) Banking
(D) Education

99. Who took the title of ‘Vikramaditya’?
(A) Chandragupta |
(B) Chandragupta II
(C) Chandragupta Maurya
(D) Samudragupta

100. Which one is not an ore of iron?
(A) Bauxite
(B) Hematite
(C) Magnetite
(D) Siderite

B-22
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice S E i
any discrepancy.

2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Which one of the following was published
by Raja Rammohan Roy?

(A) Sambad Kaumudi
(B) Hindu Patriot
(C) Sandhya

(D) The Enquirer

2. Headquarters of the United Nations is in
(A) New York
(B) Washington
(C) London
(D) Paris

3. The chemically inactive gas present in the
atmosphere is

(A) Oxygen

(B) Water vapour
(C) Nitrogen

(D) Argon

4. Which one is not an ore of iron?
(A) Bauxite
(B) Hematite
(C) Magnetite
(D) Siderite

5. Who among the following published ‘The
Kesari’?

(A) Mahatma Gandhi
(B) Bhagat Singh

(C) Balgangadhar Tilak
(D) B.R. Ambedkar

C-2

1. Fafie sfaeefem s arm maemzs am
ToP AP AR ==
(A) QAW Rl
(B) & ~niGwo
(C) =t
D) W GIFHIR

2. GfSTreRg eim SR o=_ES 2
(A) Feams
(B) STMIGEH
(C) =reE
(D) =nfSeT

3. 93 g TR Wigw @ shis-at
RN INSTE IENR?

(A) SRTE -

(B) el oot

(C) wi&hitem

(D) iefq
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(A) TUIH
(B) NGRS
(C) ISGIRD
(D) Free=izs

5. W R ekt PR
(A) TR SR
(B) wais B
(C) IR Foors

(D) R =4, Sicer




6. A chemist has a solution which has 50%
acid and another solution which has 25% acid. The
amount of two solutions required to make 10 litres
of 40% acid solution are

(A) 6 litres, 4 litres
(B) 4 litres, 6 litres
(C) 17 litres, 3 litres
(D) 3 litres, 7 litres

1
7. Amancovers adistance of 24 kmin 3 ) hrs

partly on foot at a speed of 4.5 km/hr and partly on
bicycle at a speed of 10 km/hr. Then the man
covers the distance on foot is

(A) 10km

(B) 9km

(C) 11km

(D) 12km

8. The ratio of two liquids A and B in a
mixtureis 2 : 3 and that in another mixture is 5 : 4.
To getthe equal quantity of the liquids A and B, the
required ratio of the two mixtures is

(A) 3:7
(B) 4:9
(©) 6:11
(D) 5:9

9. Who is the author of the Book ‘Wings of
Fire’? Wings of Fire is the autobiography of
(A) Salman Rushdie
(B) Arundhati Roy
(C) A.P.J. Abdul Kalam
(D) Shashi Tharoor

10. In which field Arjuna award is given?

(A) Foroutstanding performance in sports
and games.

(B) For social service.

(C) For brilliant achievement in science
and technology.

(D) Forbrilliant performance inliterature.
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11. In ancient India Gandhara art flourished
during the reign of

(A) Ashoka

(B) Kanishka

(C) Harsha Vardhana
(D) Dharmapala

12. Mr. Bose’s monthly income is Rs. 16,000,

1
Z of his income on food. Qut of the

remaining, he spends

He spends
1000 house rent and 2—54- on
the education of his children, Money he saves per
month is

(A) Rs. 5,700

(B) Rs. 5,800

(C) Rs. 5,900

(D) Rs. 6,200

13. Maqgbool Fida Husain was a famous Indian
(A) Singer (
(B) Artist
(C) Author
(D} Journalist

14. Inhuman eye the part which allows hght to
enter into the eye is

(A) Retina
(B) Pupil
(C) Eyelens
(D) Cornea

15. The ratio of monthly income of two persons
is 9 : 7 and the ratio of monthly expenditure is 4 : 3.
If each of them manages to save Rs. 2,000 per
month, then their monthly incomes are

(A) Rs. 18,000, Rs. 14,000
(B) Rs. 13,500, Rs. 10,500
(C) Rs. 22,500, Rs. 17,500
(D) Rs. 27,000, Rs. 21,000
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21. A bag contains. of rupee 1, 50 paise and
25 paise and the ratio of the values of the coins is
4 :5: 6. Then ratio of the numbers of the coins is

(A) 3:5:7
B) 2:5:12
(C)2:5:9
(D) 2:3:10

2 3. .5 .24 _
22, If x+'§xmvz—525 ,thenx—
2elof1
. 6 5 4
(A) 5
(B) 2
1
D) 3

23. The denominator of a fraction exceeds its
numerator by 4. If both the numerator and
denominator are increased by 3, the new fraction

4
becomes 3 The original fraction is

13
17
12
17
11
17
14
17

(A)
(B)
©

D)

24. Who among the following wrote the song
‘Vande Mataram’?

(A) Rabindranath Tagore

(B) Bankimchandra Chattopadhyay
(C) Abanindranath Tagore

(D) Dwarkanath Tagore

C-6
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25. Aparnahasenoughmoney tobuy 36 oranges
atarate of Rs. 4.50 per orange. Number of oranges
she buys when the rate per orange is increased by
90 paise is

(A) 30
(B) 27
(C) 33
(D) 36

’

26. Three bells toll together and then at an

: 1 2 .
intervals 35, 25 and 15 seconds respectively,

The bells toll again after

(A) 10 seconds
(B) 8 seconds

(C) 12 seconds
(D) 15 seconds

27. Who is the present Chief Justice in the
Supreme Court of India?

(A) Ranjan Gogoi
(B) N.V.Ramana
(C) Dhananjaya Yeshwant Chandrachud
(D) None of them

28. Who wrote ‘The End of History’?
(A) Michel Foucault
(B) Francis Fukuyama
(C) Sigmund Freud
(D) E. H. Carr

29. A steamer travels 90 km downstream at the
same time as it takes to travel 60 km upstream. If
the speed of the stream is 5 km/hr then the speed of
the steamer in still water is

(A) 20 km/hr
(B) 15 km/hr
(C) 25 km/hr
(D) 30 km/hr
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30. Jhumpa Lahiri is a famous
(A) Dancer
(B) Author
(C) Actress
(D) Athlete

31. A farmer grows paddy and jute in his
35 bighe of land in a ratio 4:3. He earns as profit
Rs. 2,500 per bighe from paddy and Rs. 2,800 per
bighe from jute. The ratio of profit from paddy and
jute is

(A) 25:21
{(B) 5:4 -
(C) 23:22
D) 4:5

32. Sardar Sarovar Dam is built in the river
(A) Mahanadi ’ ’
(B) Narmada
(C) Chambal
(D) Chenab

33. The sum of the numerator and denominator
of a fraction is 4 more than twice the numerator. If
the numerator and the denominator are increased

by 3, the fraction becomes E The fraction is

(A)
B
©

D)

VlN el G|
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35. Indigo Rebellion (1859-60) took place in
(A) Bengal
(B) Andhra Pradesh
(C) Uttar Pradesh
(D) Kerala

36. Inaflood relief camp there was a provision
of food for 1000 people for 100 days, after 25 days,
250 people went away elsewhere. Number of days
the remaining food lasts for remaining people is

(A) 100 days
(B) 90 days

(C) 200 days
(D) 160 days

37. 3 men and 4 boys can do a piece of work in
14 days, while 4 men and 6 boys can do the same
work in 10 days. A boy can finish the work in

(A) 140 days
(B) 130 days
(C) 150 days
(D) 120 days

38. Whatwill be the angle between the hands of
a clock when the time is at 12-10 a.m.?

(A) 25°
(B) 50°
(©) 60°
(D) 40°
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39, The acid present in the lemon is
(A) Lactic acid
(B) Oxalic acid
(C) Citric acid
(D) Acetic acid

40. Lionisconservedin whichNational Park of
India?

(A) Corbett
(B) Gir

(C) Kaziranga
(D) Jaldapara

41. Methanoic acid is present in the
(A) Sour milk
(B) Tamarind
(C) Orange
(D) Ant sting

42, Which among the following statements is
incorrect about Gandhiji? :
(A) He supported separate electorates.
(B) He led Dandi March.
(C) Hestarted Non-Cooperationmovement.
(D) Heattended Round Table Conference.

43. World Environment Day is
(A)-22nd December
(B) 1st May
(C) 6th February
(D) 5thJune

44. A gardener has 1400 plants to arrange in
same number of rows and columns in a square
field. The minimum numberof more plants required
to make such arrangement is

(A) 45
(B) 41
© 49

(D) 44
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45. The average weight of some number of
students is 55 kg. Among them the average weight
of 20 students is 60 kg and that of:the rest of the
students is 51 kg. Total number of students is

(A) 54
(B) 52
(C) 48
(D) 45

46. Loktakisa
(A) Mountain
_(B) River
(C) Lake
(D) Desert

47. The length and breadth of a rectangular

areaincreased and decreased respectively by 10%.
Then the percentage of reduction/increase of the
area is

(A) 0.9%

®B) 1%

©) 1.1%

D) 2.1%

48.. Five years ago, the father’s age was 8 times
that of his son’s age. Five years hence, the sum of
their ages will be 635 years. Father’s present age is

(A) 50 years
(B) 40 years
(C) 45 years
(D) None of the above

49. Name the disease caused due to deficiency
of iodine in our diet.

(A) Myopia
(B) Goitre

(C) Scurvy
(D) Anemia
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50. A3-digitnumberis subtracted by anumber
obtained by reversing the digits of the original
number. Then the difference is divisible by

(A) 91
(B) 98
(C) 99
(D) 101

51. The difference of the compound interest
and simple interest on certain amount at the rate of
10% for 2 years is Rs, 50. Then the amount is ]

(A) Rs. 6,000
(B) Rs. 5,000
(C) Rs. 7,500
(D) Rs. 4,500

52. Kathakali is the dance of which state of
India?
(A) Maharashtra
(B) Uttarakhand
(C) Odisha
(D) Kerala

53. A policeman starts to chase a thief. When
the thief goes 5 steps, the policeman moves 6 steps.
Again, 3 steps of the policeman is equal to 6 steps
of the thief. The ratio of the speeds of the policeman
and the thief is

(A) 12: 11
B 11:7
(C) 12:7
D) 12:5

54, Raju sells two calculators for Rs. 1,500
each. He earns a profit of 25% on one and suffers
a lose of 25% on another. The profit/loss of the
person is

(A) Rs. 100
(B) Rs. 200
(C) Rs. 300
D) Rs. 350
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55. A, B, C can do a piece of work together in

15 days. B alone and C alone can do the work in"

30 days and 40 days respectively. A alone can do the
work in

(A) 60 days
(B) 30days
(C) 120 days
(D) 75 days

56. Which period was known as ‘The Golden
Age’ of ancient India? )

(A) Maurya Age
(B) Kushana Age
(C) Satabahana Age
(D) Gupta Age

57. A fruit vendor buys certain number of
bananas. If the selling price of 5'bananas is equal
to the cost price of 6 bananas, then his profit or loss
percentage is

(A) 20%
(B) 25%
(C) 15%
D) 30%

58. In which one of the following states is
Rawatbhata Nuclear Energy Plant located?

(A) Gujarat
(B) Kerala
(C) Punjab
(D) Rajasthan

59. A number of two digits exceeds four times -

the sum of its digits by 6. It is increased by 9 on
reversing the digits. The number is

(A) 45
(B) 43
(C) 34
(D) 54
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60. Which Mughal Empcror took the title of
‘Alamgir’?
(A) Akbar
(B) Jahangir
(C) Aurangzeb
(D) Shah Jahan

61. Deficiency of which vitamin is responsible
for rickets in Children? N

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

62. Iron ore mines of Mayurbhanj are located
in .
(A) Odisha
(B) Gujarat
(C) Kerala
(D) Rajasthan

63. Which one of the following subjects is
included in the concurrent List?

(A) Trade

(B) Agriculture
(C) Banking
(D) Education

64. Who among the following won Ramon
- Magsaysay Award?

. (A) Ashapurna Devi

(B) Anita Agnihotri

{C) Mahasweta Devi

(D) Bani Basu
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65. Ratio of three positive numbersis2: 3 : 5,
sum of whose square is 950. Then the numbers are
(A) 2,3,5
(B) 8§,12,20
(C) 10, 15,25
(D) 12,18, 30

66. The brain of human body is responsible for
(A) Thinking
(B) Regulating the heart beat
(C) Balancing the body
(D) All of the above

67. Who was the first Foreign Minister of Free
India?
(A) Jawaharlal Nehru
(B) Maulana Abul Kalam Azad
(C) B.R. Ambedkar
(D) Sardar Vallabhai Patel

1
68. A man donated To of his money to a

1
school, 5 of the remaining to a church and the

remaining money he distributed equally among
his three children. If each child gets Rs. 50,000,
then the man originally had

(A) Rs. 1,50,000

(B) Rs. 2,00,000

(C) Rs. 2,50,000

(D) Rs. 3,00,000

69. The salary of a person is reduced by 25%.
The percentage increase of the present salary to get
back the earlier salary is

(A) 35%
(B) 25%
(C) 20%

1
D) 335%
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70. Manishsold his watch at 10% loss. Ifhe had
sold for Rs. 54 more, he would have made 8%
profit. The selling price of the watch is

(A) Rs. 490
(B) Rs. 350
(C) Rs. 270
(D) Rs. 420

71. Which of the following is a plant hormone?
(A) Insulin
{B) Thyroxin
(C) Oestrogen
(D) Cytokinin

72. Who is the author of the book ‘Silent
Spring’?
(A) Rachel Carson
(B) Charles Darwin
(C) Adam Smith
(D) None of them

73. Who took the title of ‘Vikramaditya’?
(A) Chandraguptal
{B) Chandragupta II
(C) Chandragupta Maurya
(D) Samudragupta

74. The time at which a sum of Rs. 1,600
becomes 1,852.20 atan annnal rate of interest 20%
compounded quantity is

(A) 3 months
(B) 6 months
(C) 9 months
(D) 12 months
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75. Who appoints the Chief Justice of the
Supreme Court of India?

(A) Prime Minister of India

(B) President of India

(C) Vice President of India

(D) Speaker of the Lok Sabha of India

76, In ancient India the famous Nalanda
University was founded by

(A) The Maurya Emperors
(B) The Chola Emperors

* {C) The Gupta Emperors
(D) The Pallava Emperors

77. During which Governor General’s reign
the partition of Bengal was declared in 1905? )

(A) Lord Curzon

(B) Lord Wellesley -
(C) Lord Ambherst

(D) Lord William Bentinck

78. The ratio of milk and water in three equal
pots are in the ratios 3:1, 5:3 and 9:7 respectively.
Then the pot in which milk is more than water—

(A) Equal milk in all pots
(B) 3rd pot ‘
(C) 2nd pot

(D) 1st pot

79. Jim Corbett National Park is situated in
(A) Uttar Pradesh
(B) Uttarakhand
(C) Madhya Pradesh
(D) Kerala )
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80. A, B and C start a business together. In a
yearthey earn Rs. 29,000. If theratio of investment
of AandBis3:2andthatofB: Cis5:2,then A
earns '

(A) Rs. 15,000
(B) Rs.'14,000
(C) Rs. 16,000
(D) Rs. 18,000

81. Which one of the following is an example
of the Ferrous Metal?

(A) Copper
(B) Tin

(C) Bauxite
(D) Nickel

82. ‘Bihu’ is the folk dance of
(A) Rajasthan
(B) Punjab
{C) West Bengal
(D) Assam

83. A person went to some place at a speed of
15 km/hr and returned to original place at a speed
of 10 km/hr. The average speed of the person is

(A) 12 km/hr
(B) 13 km/hr
(C) 12.5 km/hr
(D) 14 km/hr

84. The Information Technology Act in India
was passed in

(A) 1990
(B) 2000
(C) 2010
(D) 2005
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85. The dockyard was found in which of the
following sites of Indus Valley Civilization?

(A) Chanhudaro
(B) Lothal

(C) Kalibangan
(D) Banawali

86. A student secured 32% marks in an
examination and failed by 12 marks. Another
student secured 42% marks and got 28 marks more
than the pass marks. The maximum marks of the
examination is '

(A) 500
(B) 600
(C) 400
(D) 700

87. Baba Amte is associated with which
movement in India?

(A) Save Ganga movement
(B) Save Narmada movement
(C) Chipko movement

(D) Tebhaga movement

88. The circumferences of the front and rear
wheel of arail engine are respectively 140 cm and
350 cm. The least distance to be covered by the
engine so that both the wheels complete their full
rotation simultaneously is

(A) 1400 cm
(B) 700 cm
(C) 1050 cm
(D) 980 cm

89. The sum of two numbers is 150 and their
H.C.F. is 15. The numbers are

(A) 60,90
(B) 30, 120
(©) 75,75
(D) 45, 105
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90. A train passes a bridge 264 m long in
20 sec, but it takes 8 sec to cross a signal post of the
rail line. The speed of the train is

(A) 83.6 km/hr
(B) 79.2 km/hr
(C) 64 kmvhr

(D) 72.8 km/hr

91. The six digit least number which is exactly
divisible by 215 is
(A) 100170
(B) 100180
(C) 100190
(D) 100160

92. Salim Ali is a famous
(A) Entomologist
(B) Ornithologist
(C) Virologist
(D) Archaeologist

93. In 1972, the population of a village was
2000. In 1982 male population was increased by
10% and female population was decreased by 6%
but there was no change of the total population.
Then the male population in the year 1972 was

(A) 730 »
(B) 750
(©) 720
(D) 770
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20 GRS SoF I0H IR @Eeed 4iE 93H
AT 8 GIECS e I | Oy Gl of® =&
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' 1 1
04, If Z of a number is added to 5 of that

1
number, the result is 15 greater than ) of that

number. The number is
{A) 160

(B) 190
(C) 180
(D) 170

95. If 3 men or 4 women can earn Rs. 480 in a
day, thenthe amount that 6 men and 11 women will
earn in a day is

(A) Rs. 2,380
(B) Rs. 2,320 -
(C) Rs. 2,280
(D) Rs. 2,220

96. The number nearest to 100000 exactly
divisible by 2, 3,4, 5, 6 and 7 is
(A) 100030
(B) 100010
(C) 100020
(D) 99960

97. The least number that must be added to
6412 to get a perfect square is
(A) 141
B) 129
(C) 139
(D) 149

98. The number of biggest squared-shaped stone
required to cover a rectangular area of sides 45 m
and 33 m is

(A) 175
(B) 165
(©) 155
D) 145
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96. 100000~93 {258 (@ 7 2, 3,4, 5,6
OR 7 i Rete; &1 ==
(A) 100030
(B) 100010
(C) 100020
(D) 99960

97. 6412-97 AN @ "paes TG @st T
sjefasl e “Atem T @i =
(A) 141
(B) 129
(©) 139
(D) 149

98. (b SITOIFF CFCEF (75 @ 23 7% 45 o
8 33 3517 27, Sz T© FIRe 728 IR e
M 62 SRS (RS (BT &l A S 5

(A) 175
(B) 165
(© 155
(D) 145
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99, The age of a man is twice the sum of the 99, O3 JYew T O T2 (E-CIT THOT
ages of his two children. After 20 years, his age e fBad | 20 T2 21T SR 959 E &A-GEEMS
will be equal to the sum of the ages of his two T AR i | 68 e I

children. The age of the man is (A) 35F
(A) 35 years (B) 4533
(B) 45 years (C) 40 3R
(C) 40 years O 50‘4’2_;1'
(D) 50 years )

100. Out of 8000 candidates, 60% were boys. If 100. 8000 T #iTE WG 60 oA T | TW

80% of the boys and 90% of the girls passed the 20 *feieel (= 932 90 *Sies (I A I ol e
examination, number of candidates failed is

21Tg TG ==
((1];‘; ggg (A) 1260
o 125 B) 1270
o st (©) 1250
(D) 1280
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SERIRINGL - e Roll No.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:
. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the

Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen. g

. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answers. 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion

of the examination.
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1. Who among the following published “The
Kesari'?
(A) Mahatma Gandhi
{B) Bhagat Singh
(C) Balgangadhar Tilak
(D) B.R. Ambedkar

2. In which field Arjuna award is given?

{A) Foroutstanding performanceinsports
and games.

(B) For social service.

(C) For brilliant achievement in science
and technology.

(D) Forbrilliant performance in literature.

3. The length and breadth of a rectangular
areaincreased and decreased respectively by 10%.
Then the percentage of reduction/increase of the
area is

(A) 0.9%
B) 1%

(C) 1.1%
(D) 2.1%

4. If 3 men or 4 women can earn Rs, 480 ina
day, then the amount that 6 men and 11 women will
earn in a dayis

(A) Rs. 2,380
(B) Rs. 2,320
(C) Rs. 2,280
(D) Rs. 2,220

1 :
5. A man donated 10 of his money to a

1
school, E of the remaining to a church and the

remaining money he distributed equally among
his three children. If each child gets Rs. 50,000,
then the man originally had

(A) Rs. 1,50,000
(B) Rs. 2,00,000
(C) Rs.2,50,000
(D) Rs. 3,00,000

1. & 9 @ oo FRRE 2
(A) RIS SR
(B) S g
(C) FEsiENg foes
(D) R =7 stves

2, S SFEE 2 T W HOTW T2
(A) Few Fferes o |
(B) WIMSGTIR & |
(&) Wea@amww
Gl |

(D) AfErerz ot s 3o s |

3. I TSI (FCaT (79 10 *1oie qeiet
@ﬂ?‘iﬁ?l()"i@'(“imﬁl@wa@
CRAT CHRIT T WS AT 9 FIE 2

(A) 0.9 *roiet
(B) 1=reIgdt

(C) 1.1 %@t
(D) 2.1 *(oiee

4. 373 & o WY 4 e NiReA! e 480 Biwl
O A O 6 & 2 @ 11 & N G T
DI ST T2

(A) 2,380 B9t
(B) 2,320 5=
(C) 2,280 B
(D) 2,220 Git

5. ﬂa‘:aﬁ?ww@ To A R I
A e W”‘Ttﬂﬁiﬁ@ﬂﬁmcﬂﬁ\ww
mﬁ%m@@wfﬁmmwwmw
R (7 | T ATSJ TG 50,000 Bie1 L ~A, OIgge

©iF wefa AAffme =
(A) 1,50,000 Giet
(B) 2,00,000 Gt
(C) 2,50,000 Bt
(D) 3,00,000 Gt




~ 2 3 5 _24
6. If x+=x——r——+—=5— ,thenx=
3°5.2.611 4 725
6 5 4
(A) 5
B) 2
o1
D) 3

7. Ratio of three positive numbersis2: 3 : 5,
sum of whose square is 950. Then the numbers are

(A) 2,3,5
(B) 8,12,20
(C) 10, 15,25
(D) 12,18,30

8. The time at which a sum of Rs. 1,600.
becomes 1,852.20 at an annual rate of interest 20%
compounded quantity is ‘

{A) 3 months
(B) 6 months
(C) 9 months
(D) 12 months

9. Inaflood relief camp there was a provision
of food for 1000 people for 100 days, after 25 days,
250 people went away elsewhere. Number of days
the remaining food lasts for remaining people is

(A) 100 days
(B) 90 days

(C) 200 days
{D) 160 days

1
10. Amancoversadistanceof24kmin3 -i hrs

partly on foot at a speed of 4.5 km/hr and partly on
bicycle at a speed of 10 km/hr. Then the man

covers the distance on foot is
(A) 10km
(B) 9km
(C) 11km
(D) 12km

D-3
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6. Wixsixeo 2252 Gmy=
35 1 274 25
6 4
(A) 5
(B) 2
© 1
D) 3

7. [SA0 e MY STFAS 2:3:5 aR
Sitid QUi ISITE 950 | wigE He foaf ==
(A) 2,3,5
(B) 8,12,20
©) 10,15,25
(D) 12,18,30

8. (i wwE o AT 20 <ok AW
1,600 Biel g AT S-St 1,852.20 B 24|
AR AR 2=
(A) 394
(B) 6%
(C) 9T
(D) 129

- 9, a3l I MR 1000 @& SEE 100
e it =11 25 A o 250 & @i SI3E B
71 IS ETR TS AR B

(A) 100 fm=
(B) 90w
(C) 200 fa
(D) 160 =

Ve

10. masa]%%ﬁﬁﬁrm% 951w gyl ol
&% 4.5 Bes g IfRH EHAREEE oot
10 fREfiaSt sifere wifey 371 63 e To 1ag
AT &5 T2 '

(A) 10 =f
B) 9=l
(C) 11 &
(D) 12Rf
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11. A, B, C can do a piece of work together in '

15 days. B alone and C alone can do the work in
30 days and 40 days respectively. A alone can do the
work in

(A) 60 days
(B) 30days
(C) 120 days
(D) 75 days

12. -In ancient India Gandhara art flourished

during the reign of
(A) Ashoka
(B) Kanishka
(C) Harsha Vardhana
(D) Dharmapala

13. Who is the present Chief Justice in the
. Supreme Court of India?

(A) Ranjan Gogoi

(B) N.V.Ramana

(C) Dhananjaya Yeshwant Chandrachud
(D) None of them '

14. In aschool there were 660 students and the
ratio of the number of the boys and girls was 13 : 9.
After a few days 30 girls joined the school and few
_ boys left the school. As a result, the ratio of the
boys and girls become 6 : 5. The number of boys
left the school is

(A) 40
(B) 50
(©) 30

(D) 60

15. A person went to some place at a speed of
15 km/hr and returned to original place at a speed
of 10 km/hr. The average speed of the person is

(A) 12 km/hr
(B) 13 km/hr
(C) 12.5 km/hr
(D) 14 km/hr

11. A,B,C 93 9% T 15 e ora T 167
IEU B 4R C O3 G TG I 30 T 8
40 fits 018 T | A €3 TS TS W (ofF T

(A) 60 Wt
(B) 30 @
(C) 120w
(D) 75 =

12. 2l RS sitas e ReRs e @
(A) STt
B) =i
(C) =R
(D) ufeit

13, SRTSA AN @GT 6T 2y Roreifs
@?
(A) G st
(B) wA. fe. =
(C) 4RER TN SERY
(D) I3 WY CFoR AN

14. 9% FE 660 T WIRE BE @ 79 8
BT TRAIF A 13 : 91 Rgfiia =17 30 T wew
R SR A Al o7 93k g i 9% e s we e
51 T | O T R 8 RIdia TG SHAC T 6 : 5|
TETH B 6% Fel (=Y 5TF T2

(A) 40
(B) 50
(© 30
(D) 60

15. &3 & 15 a6t @ot @I wRe o
aR 10 RV o e wict | SR o se @sim
(A) 12 fHRi/=sst
(B) 13 &fi/est
(C) 12.5 Fhirest
(D) 14 R/t



16. Which among the following statements is
incorrect about Gandhiji?

(A) He supported separate electorates.
(B) He led Dandi March.

(C) HestartedNon-Cooperationmovement.
(D) Heattended Round Table Conference.

17. A man buys postage stamp of 25 paise and
50 paise for Rs. 10. He buys 28 stamps in all.
Number of 25 paise stamp bought by him is

(A) 16
(B) 20
(C) 12
O 15

18. The age of a man is twice the sum of the
ages of his two children. After 20 years, his age
will be equal to the sum of the ages of his two
children. The age of the man is

(A) 35 years
(B) 45 years
(C) 40 years
(D) 50 years

19. The ratio of two liquids A and B in a
mixtureis 2 : 3 and that in another mixtureis 5 : 4.
To get the equal quantity of the liquids A and B, the
required ratio of the two mixtures is

(A) 3:7
(B)4:9
(C 6:11
D) 5:9

20. Inhuman eye the part which allows light to
enter into the eye is

(A) Retina t
(B) Pupil

(C) Eyelens

{D) Cornea

D-5
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16. 7 RFfoelm g @Rl AR T
SITATEY 7 ?
(A) R Eremn foies) Rse ey
Reee e Fa0e |
(B) o oifs s (79w MeafeEm |
(C) &R spizr@ls wtvkiT AATe
AR |
(D) T8 (MR 0w ot FCafeger |

17. <& G 25 A 50 2= T 10 S
TSR @@ | 7 3 (IF 28 ©iebies T w@
O 25 ST e SbRnT WA =

(A) 16
(B) 20
© 12
(D) 15

18. ¢ e T OF T (WE-GIES WEHR
TR awd | 20 29 219 OFF I TA (RE-EMAE
AP AA®T AN | 62 e T &

" (A) 353=A
(B) 45 9=4
(C) 40 T=4
(D) 50 9=4

-~

19. 75 fSlwitst A 922 B ST ST 25 AT
213 @R 5 : 41 7 Fst (@ Selite eomiitst A e B
ST SRS HAH ZF GG 25

(A) 3:7
(B) 4:9
(C) 6:11
(D) 5:9

20, A AT @ o (oicd STl et
(A) a1 a1 =fEeels
(B) Pupil i wifestal
(C) Eye lens i (GITAF =19
(D) =Rt wwrmeee
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21. Indigo Rebellion (1859-60) took place in
(A) Bengal
(B) Andhra Pradesh
(C) Uttar Pradesh
(D) Kerala

22. The dockyard was found in which of the
following sites of Indus Valley Civilization?

(A) Chanhudaro
(B) Lothal

(C) Kalibangan
(D) Banawali

23. Raju sells two calculators for Rs. 1,500
each. He earns a profit of 25% on one and suffers
a lose of 25% on another. The profit/loss of the
person is

(A) Rs. 100
(B) Rs. 200
(C) Rs. 300
(D) Rs. 350

24. Manishsold his watch at 10% loss. Ifhe had
sold for Rs. 54 more, he would have made 8%
profit. The selling price of the watch is

(A) Rs. 490
(B) Rs. 350
(C) Rs. 270
(D) Rs. 420

i 1
25, If Z of a number is added to 5 of that

1
— of that

number, the result is 15 greater than 2

number, The number is
(A) 160
(B) 190
(C) 180
D) 170

D-6

21. =1 faiz (1859-60) zafee
(A) T
(B) Smeare!
(C) Tz
(D) cqi=y

22, g Fered @i %Y WRES et
(A) BTl
(B) G
(C) FE==
(D) [l

23. Y i WEgEnT 2fef 1,500 Srem R
A | G GHOTS 25 =i Ae FF G GBS
25 *1e1e HS 2T | Ol O Fie/ AR sifFui 2

(A) 100 Bl
(B) 200 B
(C) 300 Bl
(D) 350 Bt

24, ¢ <6 wf% 10 =it wiere RiF @161
I Qe 54 Bt &P Wity (i e o7 8 *ror
e oge | Al R e

(A) 490 BT
(B) 350 Bt
(C) 2705
(D) 420 Tz

C 1 i
25. I A 4 oA @R ALY 3 SR
AN @Sl T @ AT AT T ©f 93 FLE

1

5 S (RATF 15 ST | 7R =
(A) 160

(B) 190

(C) 180

(D) 170




26. A train passes a bridge 264 m long in
20sec, but ittakes 8 secto cross a signal post of the
rail line. The speed of the train is

(A) 83.6 km/hr
(B) 79.2 km/hr
(C) 64 km/hr

(D) 72.8 km/hr

27. Deficiency of which vitamin is responsible
for rickets in Children?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

28. The number nearest to 100000 exactly
divisible by 2, 3,4, 5,6 and 7 is
(A) 100030
(B) 100010
(©) 100020
(D) 99960

29. The brain of human body is responsible for
(A) Thinking
(B) Regulating the heart beat
(C) Balancing the body
(D) All of the above

30. Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Agriculture
(C) Banking
(D) Education

EMRI/22

26, 9% @7 264 o e 9o oy
20 GRS ST T GR @TEARFR 4Id 93
YIS 8’ GRS Wewy 0F | Bie G oif® 551

(A) 83.6 Rl
- (B) 79.2 BFRH

(C) 64 BRI/t

(D) 72.8 [R/aGt

27. (@ b1 e Mums fues @istzg e
(A) feoifm A
(B) fSBim B
(C) feifim C
(D) R D

28. 100000-a3 frbaet @ =4if 2,3, 4, 5, 6
43k 7 Terg fRereg o1 =
(A) 100030
(B)- 100010
(©) 100020
(D) 99960

29. W3 WA A¥FT IS ==
(A) fouq
(B) wtvme oz v
(C) 7z SIEICE fwage Fat
(D) ToAE FRGTHR! T T4

30. @ A%y I O I TR wiFTeE
[ERIEERAIICTR Y

(A) I Aoy
B) TR

(C) ifEe

(D) ot

Please Turn Over




EMRI/22

3. If x+2+

1+——

(A)
(B)
©)

D)

32. Which one is not an ore of iron?
(A) Bauxite
(B) Hematite
(C) Magnetite
(D) Siderite

33. In which year National Human Rights
Commission of India was established?

(A) 1990
(B) 1993
(C) 1947
(D) 2000

34. World Environment Day is
{A) 22nd December
(B) 1st May
(C) 6th February
{D) 5th June

35. The circumferences of the front and rear
wheel of arail engine are respectively 140 cm and
350 cm. The least distance to be covered by the
engine so that both the wheels complete their full
rotation simultaneously is

(A) 1400 cm
(B) 700 cm
(C) 1050 cm
(D) 980 cm

D-8

31. T x+2+
1+

88
19
87
19
91
19
89
19

32, e SR TG @b EIEE e
T

(A)
(B)
©)

)

(A) T

(B) cxB1R6
(C) INCABIRG
(D) Froeaizs

33, SRS TR AW The oo i
dfefe gafee e
(A) 1990
(B) 1993
(C) 1947
(D) 2000

34, ‘R +ifaee e o oo @ =m0 e
(A) 2204 ferra
(B) 15 @
(C) 63wz
(D) 53

35. 3 @ e AR 93 e ielE
siff& YT 140 A @2 350 Il Zi&AG @ 7
TN TG (AN B qfow @ o o g1, o
=

(A) 1400 Gif
(B) 700 Gifa
(C) 1050 @if¥ -
(D) 980




36. Baba Amte is associated with which
movermnent in India?

(A) Save Ganga movement
(B) Save Narmada movement
(C) Chipko movement

(D) Tebhaga movement

37. Methanoic acid is present in the
(A) Sour milk
(B) Tamarind
(C) Orange '
(D) Ant sting

38. Salim Ali is a famous
(A) Entomologist
(B) Omithologist
(C) Virologist
{D} Archaeologist

39. Who appoints the Chief Justice of the
Supreme Court of India?

(A) Prime Minister of India

(B) President of India

(C) Vice President of India

(D) Speaker of the Lok Sabha of India

40. A number of two digits exceeds four times
the sum of its digits by 6. It is increased by 9 on
reversing the digits. The number is

(A) 45
(B) 43
(C) 34
(D) 54

D-9 EMRI/22

36. I NS ST (& AR AL TF 2
(A) =i dole STHE
(B) Tl divre WTHET
(C) ool wiTmiew
(D) SISl TR

?

37. RS wite A
(A) B H
(B) (R
(C) FIETIS
D) Feres

38, wifer SNifer 2Fm o e
(A) stomfan
(B) st=ifam
(C) sizamfAn
(D) egogim

39, ©iF0od e @IHY duw [uiedfew & -
s e
(A) SITed 2UaR
(B) SRS A
(C) ©HETey BoRigefs
(D) ©IFted EReTeR FeE

40, T 72 SF WY O SFSE @NFEE
4 5 (AT 6 R | 2 SrElG g AR w0 ot
3 Y 9 I A 1 1 Yi ==

(A) 45

(B) 43

(C) 34

D) 54
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41. The ratio of milk and water in three equal
pots are in the ratios 3:1, 5:3 and 9:7 respectively.
. Then the pot in which milk is more than water—

(A) Equal milk in all pots

(B) 3rd pot -
(C) 2nd pot e
(D) 1stpot

42. The chemically inactive gas present in the
atmosphere is '
(A) Oxygen
(B) Water vapour
(C) Nitrogen
(ID) Argon

43. Who among the following won Ramon
Magsaysay Award?

(A) Ashapurna Devi
(B), Anita Agnihotri
(C) Mahasweta Devi
(D) Bani Basu

44, Kathakali is the dance of which state of
India? ‘

(A) Maharashtra
(B) Uttarakhand
(C) Odisha
(D) Kerala

45. The six digit least number which is exactly
divisible by 215 is
(A) 100170
(B) 100180
- (C) 100190
(D) 100160

D-10

41, TR 7 ~iiGa 14 @ Ters oA 3: 1,
5:3,9: 7 @ ¥IGE SR g gy &q\—
‘ (A) 79 #AIGa I 7Y
(B) 78I -y
(C) & g
(D) 249 #ifg

42. 97 g IR FigE @W o
I TS TER?
(A) wf3es
(B) & qtost
(C) TEBITE
(D) =

43. TR TG (AT CF AN SPIPTEAR T
e ARG 2

(A) s Gt
(B) s wficd
(C) el (il
(D) T 7

44. AR JTe OIS (I D 9 ¢
(A) RIR
(B) S
(C) e
(D) 3

45. (I SIS HHow A 215 il Rereg
(A) 100170 '
(B) 100180
(C) 100190
(D) 100160
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51. A bag contains of rupee 1, 50 paise and
25 paise and the ratio of the values of the coins is
4 : 5: 6. Then ratio of the numbers of the coins is

(A) 3:5:7
(B) 2:5:12
(C) 2:5:9
(D) 2:3:10

52, The difference of the compound interest
and simple interest on certain amount at the rate of
10% for 2 years is Rs. 50. Then the amount is

(A) Rs. 6,000
(B) Rs. 5,000
(C) Rs.7,500
D) Rs. 4,500

53, Iron ore mines of Mayurbhanj are located
in
{A) Odisha
(B) Gujarat
(C) Kerala
(D) Rajasthan

54. The least number that must be added to
6412 to get a perfect square is
A 41
B) 129
©) 139
(D) 149

55. During which Governor General’s reign

the partition of Bengal was declared in 19057
(A) Lord Curzon
(B) Lord Wellesley
(C) Lord Ambherst
(D) Lord William Bentinck

D-12

51. @3 Afre g MYT 1 B, 50 =i,
25 #RAIR H1 IR | 3 St [ S 4:5:6
T SIS RN SIS 2=

(A) 3:5:7
(B) 2:5:12
(C) 2:5:9
(D) 2:3:10

52, g AAfEnq BiiE 10 =ore 2w 2 1"

&g I 8 WRE YR ST 50 B | orRee B
AAfFe ==

(A) 6,000 B/

(B) 5,000 Bt

(C) 7,500 B

(D) 4,500% -

53. AR TR Wi AW afEs @ wice,
6 &=
(A) efet
(B) weEIB
(C) coal
(D) ey

54, 6412-93 AN @ TESH ALY A1 T
sfefasf A e I G =&
(A) 141
(B) 129
(C) 139
(D) 149

’

55. SRS A TeHE (EEIEETE A
1905 951 I5rew (e Tafee ?

(A) TTE PS4

(B) =T SREAR
(C) =76 sy

(D) o7 S &fow




56. A student secured 32% marks in an
examination and failed by 12 marks. Another
student secured 42% marks and got 28 marks more
than the pass marks. The maximum marks of the
examination is

(A) 500
(B) 600
(C) 400
(D) 700

§7. Which of the following is a plant hormone?
(A) Insulin
(B) Thyroxin
(C) Oestrogen
(D) Cytokinin

58. A policeman starts to chase a thief. When
the thief goes 5 steps, the policeman moves 6 steps.
Again, 3 steps of the policeman is equal to 6 steps
of the thief. The ratio of the speeds of the policeman
and the thief is

(A) 12:11
(B) 11:7
© 12:7
(D) 12:5

59. The acid present in the lemeon is
(A} Lactic acid
(B} Oxalic acid
(C) Citric acid
(D) Acetic acid

60. A farmer grows paddy and jute in his
35 bighe of land in a ratio 4:3. He earns as profit
Rs. 2,500 per bighe from paddy and Rs. 2,800 per
bighe from jute. The ratio of profit from paddy and
jute is

(A) 25:21
(B) 5:4
(C) 23:22
(D) 4:5
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56, O3 W OF AT 32 Wt TEF ST @
12 VR G T | T ST R 42 XS 77 oA
QIR 21 TEF (AT 28 TH I o417 | €% +{Fwig (06
THR @

(A) 500
(B) 600
(C) 400
(D) 700

57. Festeam Wy T 93 St =T e
(A) TTf™
B) =R
(C) TBTEA
(D) ARG

58. GFE AAfe™ 9T GIAT SIS OF I 1@
T (IG5 4151 T sifer (iR e 6 4ot wifear
I I SRITARTCIR 3 Gt G 6 Lot F7arie] [ Siege
el @ BItER Sifex Soifs T5

(A) 12:11
B) 11:7
© 12:7
(D) 12:5

59. SRR T (@ SIS A, Gl 25
(A) LD St
®) == s
(C) TG woife
(D) SRS =iTe

60. <FT T3S BIF 35 [l Shite 4:3 St
g1 '8 {5 1% 9 | 1 I &ifs [aw ¢i= ¢ #If5 (2w
JAFC 2,500 TiFt 2R 2,800 Bi=et 37 0 O 41
@ i Bt O FTeT TAS

(A) 25:21
(B) 5:4
(C) 23:22
(D) 4:5
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61. The ratio of monthly income of two persons
is9 : 7 and the ratio of monthly expenditureis 4 : 3.
If each of them manages to save Rs. 2,000 per
month, then their monthly incomes are

(A) Rs. 18,000, Rs. 14,000
(B) Rs. 13,500, Rs. 10,500
(C) Rs. 22,500, Rs. 17,500
(D) Rs. 27,000, Rs. 21,000

62. Thrcc bells toll together and then at an

2 ,
intervals 3 2— and 15 seconds respectively.

The bells toll again after

(A) 10 seconds
(B) 8 seconds

(C) 12 seconds
(D) 15 seconds

63. Who among the following wrote the song
‘Vandc Mataram’?

(A) Rabindranath Tagore

(B) Bankimchandra Chattopadhyay
(C) Abanindranath Tagore

(D) Dwarkanath Tagore

64. A 3-digitnumberis subtracted by a number
obtained by reversing the digits of the original
number. Then the difference is divisible by

(A) 91
®B) 98
(C) 99
(D) 101
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61. TSR NP ST SHAS 9 @ 7 GR O
W AR WA 4 1.3 | 3 i e 2,000 B
TE T P, O O NP e oAt =51

(A) 18,000 51, 14,000 Bist
(B) 13,500 B, 10,500 it
(C) 22,500 B, 17,500 BiF!
(D) 27,000 BFel, 21,000 it

62. <37 oreita fom® =951 PR AR | ST

1 1 2
'6121135 TS, 25 GG Y% 15 CTE 47

e | o €} oAl IR Perou . AW AT

TN G © 2

) (A) 10 CTES
(B) 8 G
©) 12 CTTS
(D) 15 GTTS

63. FR=fEHRe g g @ 9w ey 'imﬁ?
T FLATRGEE 2
(A) FAEAL FFH
(B) %5 SR
(C) SRV SIg
(D) =EFIY ST

64. @35 o7 SE Y (AT T GFH TRl
@6 o1 AU SFSFTT RS o e shemt
7 o} et o1 28 | @ R4 #ieh (5 S (FiN
Fept 7t Herey ¢

(A) 91
(B) 98
©) 99
(D) 101




65. Which one of the following was published
by Raja Rammohan Roy?

(A) Sambad Kaumudi
(B) Hindu Patriot
(C) Sandhya

(D) The Enquirer

66, A steamer travels 90 km downstream at the
same time as it takes to travel 60 km upstream. If
the speed of the stream is 5 km/hr then the speed of
the steamer in still water is

(A) 20 kmv/hr
(B) 15 km/hr
(C) 25 km/hr
(D) 30 km/hr

67. 3 men and 4 boys can do a piece of work in
14 days, while 4 men and 6 boys can do the same
work in 10 days. A boy can finish the work in

(A) 140 days
(B) 130 days
(C) 150 days
{D) 120 days

68. Who wrote ‘The End of History’?
(A) Michel Foucault )
(B) Francis Fukuyama
(C) Sigmund Freud
(D) E. H. Carr

69. ‘Bihu’ is the folk dance of
(A) Rajasthan
(B) Punjab
(C) West Bengal
(D) Assam
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. 65, TanfeRe sfdialem wug Tt amte T
TS g Rl =

(A) AW @

®B) T AhEs

(C) Tl

(D) W GFEE

66. 93 FoarA @irea St 90 Rt @ s
T @ISR ST 60 R ¢1F 9 i 7w | TR
e S 5 [t = otz Rz v Fowicm oS

EG|
(A) 20 BRas!
(B) 15 FRia®
(C) 25 Rfyas
(D) 30 Rfsiratt

67. 3 ETIF TR 4 T I T30 S 14 7 (13
AL A | R TFIHD 4 T (FTIF AR, 6 T 70 10 Tiem
A | I TS Jofe D (17 I ©f T

(A) 140 W
(B) 130 frm
(©) 150 faz
(D) 120 "=

68. 7 9® wF &Y (The End of History) (¥
o1 PLARLE?

(A) Fieter gl

(B) T Fpemmt
(C) PeiTS wrre
(D) 2. 4%5. Fi7

69. ‘R YRR Iz 2
(A) =R
(B) g
(C) ~fFea==t
(D) S
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70. The sum of the numerator and denominator’

of a fraction is 4 more than twice the numerator. If
the numerator and the denominator are increased

by 3, the fraction becomes 2. The fraction is

GV

©

C
Nl elngw

@) 3

71. Out of 8000 candidates, 60% were boys. If
80% of the boys and 90% of the girls passed the
examination, number of candidates failed is

(A) 1260
(B) 1270
(©) 1250
(D) 1280

72. Who was the first Foreign Minister of Free
India?
{A) Jawaharlal Nehm
(B) Maulana Abul Kalam Azad
(C) B.R. Ambedkar
(D) -Sardar Vallabhai Patel

73. Who took the title of ‘Vikramaditya’?
(A) Chandraguptal
(B) Chandragupta Il
(C) Chandragupta Maurya
(D) Samudragupta

74. The sum of two numbers is 150 and their
H.C.F.is 15, The numbers are

(A) 60, 90
(B) 30, 120
©) 75,75
(D) 45, 105
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70, ST SN TS A (e SR SRTA
AT WRATF (I 4 @ | 1R 7R ¢ T|E 3 T
TSI 2 O TG SH T % eregeT S

5

I~ =l elung|w

(B)
©

)

71. 8000 &R 2w g 60 =it et W
80 *WIgt (7T I 90 XSILH GTL #{171 e el
AT e ==

(A) 1260
(B) 1270
(C) 1250
(D) 1280

72. TR ©IA0eH A4 Rormd & weme
(A) RETSE GIZF
(B) GTeTIAT e JEN e
(©) R. o, SieTwied
(D) Y TSGR B

73, Ferivey ©«iff & ag wRfeE=e
(A) 2o vHad
(B) o vmed
(C) vmeg &Y
(D) oY

74, 5 ALYE @A 150 ST O 5,78, &
151 7181 46 ==
(A) 60,90
(B) 30,120
(©) 75,75
(D) 45, 105




75. Loktakisa
(A) Mountain
(B) River
(C) Lake
(D) Desert

76. Which Mughal Emperor took the title of
‘Alamgir’?
(A) Akbar
(B) Jahangir
(C) Aurangzeb
(D) Shah Jahan

77. The Information Technology Act in India
was passed in )

(A) 1990
(B) 2000
(C) 2010
(D) 2005

78. Magbool Fida Husain was a famous Indian
(A) Singer
(B) Aurtist
(C) Author
(D) Journalist

79. Name the disease caused due to deficiency
of iodine in our diet.

(A) Myopia
(B) Goitre

(C) Scurvy
(D) Anemia

D-17

EMRI/22

75. GBS & B
(A) #¥s
(B) =i
©) (=)
(D) gl

76. (P WA AR SR Sty s
IEREN? .

(A) O

(B) =iz

(C) SNeTHER

(D) =z =R

77, OIS HTACHIF GHFAIET A SYTEF
iR S FAR
' (A) 1990 it
(B) 2000 i
(C) 2010 A
(D) 20053

78. X ge el 2o e e e oredty
(A) FRSHR
(B) gt
©€) T
(D) M@ hE

79. SNEAT 4 W@ Toild @ &
9l ot o e

(A) et
(B) WU
(©) =f$

(D) <o
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80. The denominator of a fraction exceeds its
numerator by 4. If both the numerator and
denominator are increased by 3, the new fraction

4 .
becomes 3 The original fraction is

13
17
12
B) 7
11
17

4
@)

(A)

©)

81. Who is the author of the book ‘Silent
Spring’?
(A) Rachel Carson
(B) Charles Darwin’
(C) Adam Smith
(D) None of them

82. A.pamahas enoughmoney tobuy 36 oranges
atarate of Rs. 4.50 per orange. Number of oranges
she buys when the rate per orange is increased by
90 paise is

(A) 30
(B) 27
(C) 33
(D) 36

83. Mr. Bose’s monthly income is Rs. 16,000.
1
He spends " of his income on food. Out of the

. 5
remaining, he spends 100 house rent and 2 0

‘the education of his children. Money he saves per
month is

(A) Rs. 5,700

(B) Rs. 5,800

(©) Rs. 5,900

(D) Rs. 6,200

80. T SA TF AR (I 4 @M | T o
4
@ TE-(F 3 T IV T OF o7 SHD 5!
SR [ SR &=

13
17
12
17
11
17
14
17

(A)
(B)
©)

@)

81. ‘A e (Silent Spring) A9 &S ¢
(A) B I
(B) BYf B0
(C) worety g
(D) GU7d TG (0L 7

82. et Pl 4.50 Bl WA 36 AT
@9 BRet Wiz | T 2fel SwwieE wiw 90 AT
[@C T Oigr ¢ Foul e [ e

(A) 30
(B) 27
(C) 33
(D) 36

83. {1 o W =iF 16,000 31 L (T O €]

1
2 (£ wamwwwwﬁww

%wwﬂaw GHGR 2% S| AT AGICI
J26 09 | OF W AT AR ==

(A) 5,700 Bt

(B) 5,800 5=t

(C) 5,900 Biast

(D) 6,200 Bt
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84, Which period was known as ‘The Golden
Age’ of ancient India?

(A) Maurya Age
(B) Kushana Age
(C) Satabahana Age
(D) Gupta Age

85. A fruit vendor buys certain number of
bananas. If the selling price of 5 bananas is equal
to the cost price of 6 bananas, then his profit or loss
percentage is

(A) 20%
B) 25%
©) 15%
(D) 30%

86. Who is the author of the Book ‘Wings of
Fire'? Wings of Fire is the autobiography of
(A) Salman Rushdie
(B) Arundhati Roy
(C) A.P.J. Abdul Kalam
(D) Shashi Tharoor

87. Lionisconservedin which National Park of
India?
(A) Corbett
(B) Gir
(C) Kaziranga
(D) Jaldapara

88. A gardener has 1400 plants to arrange in
same number of rows and columns in a square

field. The minimumnumber of more plants reqmred )

to make such arrangement is
(A) 45
(B) 41
(C) 49
(D) 44

——-7
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84. AW SIRTSH @A PT TR 0 e
Y
(A) cndgst
(B) T3 A
(C) AroarE 3o
(D) o s

85. % TIPS g AP T T A | (77 (T
msﬁwwmoﬁﬁmsﬁwﬁ‘aml
OiF Tre/FeT ST T

(A) 20 %o
(B) 25 *roled
(C) 15 *reten
(D) 30 =iz

86. B2 WX TIT (Wings of Flre) BE R
&R o 2
(A) T TR
(B) SI@®el 9
(€) Q. 9. @& SIwE e
(D) = AT

87. Pz 1eafre 21 oRTed (<IN SIeT Bl ¢
(A) FAE0
(B) 5%
(C) =i
(D) wEmisie!

88. ¥ W w7 T AN 1400 Ny T
2T A @ TR AT 51T | FATT Sig Foel
SR 2 GXONE S TAE?
(A) 45
(B) 41
(C) 49
(D) 44
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89. Jim Corbett National Park is situated in
(A) Uttar Pradesh
(B) Uttarakhand
(C) Madhya Pradesh
(D) Kerala

90. A, B and C start a business together. In a

+ yearthey earnRs. 29,000. If the ratio of investment
of AandBis3 ;2andthatof B: Cis5:2,then A

earns
(A) Rs. 15,000
(B) Rs. 14,000
(C) Rs. 16,000
(D) Rs. 18,000

91. Five years ago, the father’s age was 8 times
that of his son’s age. Five years hence, the sum of
fheir ages will be 65 years. Father’s present age is

(A) 50 years
(B) 40 years
(C) 45 years
(D) None of the above

92. Thenumber of biggestsquared-shapedstone
required to cover a rectangular area of sides 45 m
and 33 m is

(A) 175
(B) 165
(©) 155
(D) 145

93. The salary of a person is reduced by 25%.
The percentage increase of the present salary to get
back the earlier salary is

(A) 35%
®B) 25%
(©) 20%

1
(D) 335%

89, &= TA(C Tow S A WIS ?
(A) Teaam
(B) TEdide
(C) Wyt
(D) @A

90. A, B, C ¢3f6 T oF I IS 9l
29,000 Bit #I© F911 A 8 B-a7 FE4ETH TS
3:29RB@ cmqawwvnss 2 oW, O
A TS A2

(A) 15,000 B
(B) 14,000 Bt
(C) 16,000 it
(D) 18,000 Gis

91. 535 < Fiota Ta ofpe TuerE 8 v few |
@4 (A0F 5 T A7 el @ +jped (I A T
65 729 | fHreid IO T/ =

(A) 50 q=
(B) 40 =4
(C) 4577
(D) BT IR 7

92, 3T SIS CFET 5 &g A% 45 Fiow
@ 33 b1 o, OIREl TS MYT JT&d AT A1
i €2 wTeE CRatE OFF (@l S O

(A) 175
(B) 165
(C) 155
(D) 145

93, 9% YET @O 25 AT JEA | TEXT
(IO TS MBI AT AT (Fon e AN 2
(A) 35%oId
(B) 25=rsige

(C) 20=or™t

(D) 33% ot




94. JThumpa Lahiri is a famous
{A) Dancer
(B) Author
(C) Actress
(D) Athlete

95. Which one among the following is not
composed by Kalidasa?

(A) Abhijnana Shakuntalam
(B) Mudrarakshasam

(C) Raghuvamsam

(D) Kumarasambhavam

96. A chemist has a solution which has 50%
acid and another solution which has 25% acid. The
amount of two solutions required to make 10 litres
of 40% acid solution are

(A) 6 litres, 4 litres
(B) 4 litres, 6 litres
(C) 7 litres, 3 litres
(D) 3 litres, 7 litres

97. Headquarters of the United Nations is in_
(A) New York
(B) Washington
(C) London
(D) Paris

98. Which one of the following is not a
greenhouse gas?

(A) CO;,
(B) CH,4
€ 0,

D) CFCs

D-21

(A) TR
(B) @Rt

(C) wfStar
(D) Fefm

e

(A) SRRy
(B) =T

(C) TR

(D) TS

(A) 6%biE, 4 B
(B) 4 1, 6 Bivim
(C) 7 &5, 3 Fom
(D) 3o, 7 Fow

(A) ez
(B) enfGE
(© ==
(D) &

(A) CO,
(B) CH,
(© 0,
(D) CFCs
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99, In ancient India the famous Nalanda
University was founded by

(A) The Maurya Emperors
(B) The Chola Emperors

(C) The Gupta Emperors
(D) The Pallava Emperors

100. What will be the angle between the hands of
a clock when the time 'is at 12-10 a.m.?

(A) 25°
(B) 50°
(C) 60°
(D) 40°

D-22 :
99, #ibim elarew e W fiRmRE
o SRR
(A) G siBat
(B) 5= SiBal
(C) og 5Eital
(D) #i# FEioa

100. 9fTs Te.12-10 & 7o 951 ‘@ fifiGe
o1 e B et tofa 3
(A) 25°
(B) 50°
(C) 60°
(D) 40°




D-23 EMRI/22

Space for Rough Work




EMRI/22 D-24
Space for Rough Work




